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Q1. Emperor Ashoka was the son of _______. 

A. King Chandragupta B. King Samudragupta 

C. King Bindusara D. King Samprati 

Q1. 9्䵞?� 
>K� _______ �O  +I्䵔 %O। 

A. 0?�? ����Io, B. 0?�? @.I��Io, 

C. 0?�? - �.I@?0 D. 0?�? @ቘ墚9-, 

 

Q2. _______ will give 2% reservation to sportsperson in State Government jobs. 

A. Uttarakhand B. Himachal Pradesh 

C. Odissa D. Jharkhand 

Q2. _______, 1?जᱍ0 91�?1 �I (L�910ो䬂 /े䜂 �?ल?)?0ो䬂 �K 2% �1�# &O�?। 

A. �त⑍,0?��) B. 9?.?�ल 9.O> 

C. �]I@? D. �?0��) 
 

Q3. __________ Government named Wheeler island in Bhadrak district as Abdul Kalam 
island. 

A. Bihar B. Maharashtra 

C. Odissa D. Andhra Pradesh 

Q3. ��9 91�?1 (O .्䵖� �?लO /े䜂 }:Iल1 द♍=I+ �? (?/ 
m&Iल �ल?/ द♍=I+ 1??? 

A. - ??0 B. .??0?�र 

C. �]I@? D. ��� 9.O> 

 

Q4. Pradhan Mantri Sukanya Samriddhi Yojana is _____________. 

A. Scheme for providing life insurance cover B. Small deposit savings scheme for a girl child 

C. Pension scheme targeted at the private 

unorganized sector 

D. Scheme for providing round the clock power to 

rural households 
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Q4. �'?( /�्䵔I 9I�m0? 9/oृि 0K?(? _____________ :P। 

A. �I=0  I.? @I0�? 9.?0 �00O �I /K�0? B.  ?;ल�?�� �O  ;लए �K�I �.?  �, /K�0? 

C. -0�I 
@��9?, �O्䵔 +0 ल्䵌�, +े䜂>0 /K�0? D. ्䵇?.I+ +90=?0ो䬂 �K �L I@  ��O - �लI 9.?0 �00O �I 
/K�0? 

 

Q5. The famous war of Kurukshetra in Haryana was fought between ____________. 

A. Lord Ram and Ravan B. Lord Ram and Lord Krishna 

C. Kauravas and Pandavas D. Kauravas and Lord Krishna 

Q5. :910?#? /े䜂 �I y�O्䵔 �? �99ि 0Iि ____________ �O  -I� :I� %?। 

A. -�=?0 0?. �0 0?=+ B. -�=?0 0?. �0 -�=?0 �ृ�+ 

C. �L0= �0 +?�)= D. �L0= �0 -�=?0 �ृ�+ 

 

Q6. The Revolt of 1857 started from which place? 

A. Karnal B. Panipat 

C. Meerut D. Kurukshetra 

Q6. 1857 �O  o=्䵖K: �I >Iy�$ �:?? 9O :I� %I? 

A. �00?ल B. +?0I+, 

C.  
D. �I रぁ�O्䵔 

 

Q7. Lala Lajpat Rai actively participated in which protest from Hisar? 

A. Swadesi Andolan B. Desh Mera Andolan 

C. Sacchar Andolan D. Quit India Movement 

Q7. ल?ल? ल??+$ 1?0 (O 9:9?1 9O ��9 ��&Kल( /े䜂 9�ि0 z+ 9O .?� 9ल0? %?? 

A. }=.O>I ��.Kल0 B. .O> .O0? ��.Kल0 

C. @चᩍ�0 ��.Kल0 D. -?0, �K]K ��.Kल0 
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Q8. In the Third Battle of Panipat fought in the year 1761, Ahmed Shah Abdali, the ____ 

king, defeated the Marathas. 

A. Afghan B. Persian 

C. Mongolian D. Turkish 

Q8. 1761 /े䜂 ल?I �� +?(I+$ �I $I91I ल??� /े䜂, ____ -?&>?: 
:/& >?: 
m&?लI (O /1? ो䬂 �K :1?0?। 

A. 
फ⬼ग?0 B. फ⬼?0@I 

C. .��K;ल/0 D. ,I�I 
 

Q9. Anita Kundu climbed Mt. Everest from which two sides? 

A. Nepal and Bhutan sides B. China and Pakistan sides 

C. Nepal and China sides D. Nepal and Bangladesh sides 

Q9. 
(I$? �I� !ू (O ��( &K $1, 9O /?�� � ए=1O}� +1 �+?� �I %I? 

A. 0O+?ल �0 -�ू?0 �I ,0, @O B. �I0 �0 +?��},?0 �I ,0, @O 

C. 0O+?ल �0 �I0 �I ,0, @O D. 0O+?ल �0  ?�_ल?.O> �I ,0, @O 
 

Q10. Who tabled Haryana budget 2017-18? 

A. Sh. Anil Vij B. Sh. Om Prakash Dhankar 

C. Sh. Ram Bilas Sharma D. Captain Abhimanyu 

Q10. :910?#? -?� 2017-18 ��9(O +O> ��0?? 

A. �I 
-0ल ==� B. �I �. 9�?> /0�0 

C. �I 0?. - ल?@ >.?? D. �o,?0 
;-.m/I 
 

Q11. Who amongst the following is declared as Wrestling Director of Rohtak-based 
University? 

A. Geeta Phogat B. Sakshi Malik 

C. Babita Phogat D. Vijendra Singh 
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Q11. )(म⹍(9ल�?$ /े䜂 9O ��9O 1K:$� �}%$ o=�=o=द♍0?ल0 �? �I �$I )(&O>�  Ko?$ ��0? �0? :P? 

A. �I,? ,K�� B. @?�I .;ल� 

C.   I,? ,K�� D. ==�Om� ;@�? 
 

Q12. There are ______ priority areas in Haryana budget 2017-18. 

A. 8 B. 4 

C. 9 D. 6 

Q12. :910?#? -?� 2017-18 /े䜂 ______ �?%9/�$? =?लO �O्䵔 :ै䠂। 

A. 8 B. 4 

C. 9 D. 6 

 

Q13. Swachh Shakti Saptah event focused on ___________ in Swachh Bharat Mission. 

A. Role of Women B. Role of Men 

C. Role of Ministers D. Role of Government 

Q13. }=चᩍ� >�-$ 9o$?: �?0/ि/, }=चᩍ� .?1$ 9/>( /े䜂 ___________ +1 �े䜂 9्䵖$ %?। 

A. .9?ल?�� �I -;ू.�? B. +Iरぁ?ो䬂 �I -;ू.�? 

C. .�-्䵔/ो䬂 �I -;ू.�? D. @0�?0 �I -;ू.�? 
 

Q14. Sex Ratio Monitoring Dashboard to monitor sex ratio in Panipat district is part of 
______________ programme. 

A. Nati B. Beti Bachao, Beti Padhao 

C. Bharat Award D. Khel Ratna 

Q14. +?(I+$ �?लO /े䜂 9ल�� 
(I+?$ �I )(�1?(I �1(O =?ल? 9ल�� 
(I+?$ /I)(�91�� !P>-K!/ ______________ �?0/ि/ 

�? 9:}9? :P। 

A. 0?,I B.  O�I  �?�,  O�I ++?� 

C. -?0, +I0}�?0 D. �Oल 0त⑍0 
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Q15. Who wrote the biography of Harshavardhana? 

A. Banabhatta B. Gulam Kadir 

C. Surdas D. Chauranginath 

Q15. :?/='/( �I ?I=(I ��9(O 9ल?I? 

A.  ?+-्䴾 B. �Iल?. �?9.0 

C. @0ू.?@ D. �L0��I0?- 

 

Q16. Gulam Kadir is a ______ poet. 

A. Sufi B. Jain 

C. Muslim D. Sikh 

Q16. �Iल?/ �?9&1 ए� ______ �o= :ै䠂। 

A. @,ूI B. �P0 

C. .I@ल.?0 D. ;@]� 

 

Q17. Who wrote the poem, Deewan-e-Haali? 

A. Gulam Kadir B. Khwaja Altaf Hussain Haali 

C. Gulam Nilami D. Sannat Sadullah 

Q17. ��9(O &I=?(-ए-:?लI �o=$? �I 1�(? �I? 

A. �Iल?. �?9.0 B. _=?�? 
ल㉍,?, ?I@P0 ??लI 

C. �Iल?. 0Iल.I D. @m0, @L.Iल㉍ल? 
 

Q18. Which of these awards is related to literature? 

A. Bhai Santokh Singh Award B. Bhim Award 

C. Chief Minister Ratna Award D. Pt. Lakhmi Chand Award 

Q18. �(/े䜂 9O �L( 9? +I1}�?1, 9?9:m0 9O 9�-�/'$ :P? 

A. -?� @�,K� ;@�? +I0}�?0 B. -I. +I0}�?0 

C. .I_/.�्䵔I 0त⑍0 +I0}�?0 D. +�)), ल�.I ��. +I0}�?0 
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Q19. Which Makbara is situated in Thanesar? 

A. Chilli ka Makbara B. Sheikh Chilli Ka Makbara 

C. Mohammed ka Makbara D. Khilji ka Makbara 

Q19. �(/े䜂 9O �L( 9? /�-1?, %?(O91 /े䜂 �}%$ :P? 

A. ��ल㉍लI �? .� 0? B. >O� ��ल㉍लI �? .� 0? 

C. .K?ቘ墚.. �? .� 0? D. ��ल�I �? .� 0? 
 

Q20. The ________ river enters in Haryana through Ambala. 

A. Markanda B. Ghaggar 

C. Indori D. Dohan 

Q20. ________ (&I 
�-?ल? 9O :K$O :Iए :910?#? /े䜂 �=O> �1$I :P। 

A. .?�ं) B.  _�0 

C. �m.K0I D. .K?0 

 

Q21. Which amongst the following hills is in the Panchkula district of Haryana? 

A. Morni Hills B. Aravalli hills 

C. Shivalik hills D. Tipra hills 

Q21. )(म⹍(9ल�?$ /े䜂 9O �L( 9I +:??I :910?#? �O  +���ूल? �?लO /े䜂 �}%$ :P? 

A. .K00I +??]I B. 
0?=लI +??]I 

C. ;>=?;ल� +??]I D. 9�9? +??]I 
 

Q22. Which of the following districts is not drained by Yamuna river? 

A. Hisar B. Sonipat 

C. Panipat D. Karnal 

Q22. 0/I(? (&I �(/े䜂 9O ��9 �?लO 9O :K�1 (:I� -:$I :P? 

A. 9?@?0 B. @K0I+, 

C. +?0I+, D. �00?ल 
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Q23. Which of the following geographical divisions covers the largest area in Haryana? 

A. Aravalli hills B. Semi- Desert Plain 

C. Shivalik Hills D. Yamuna-Ghaggar Plain 

Q23. �(/े䜂 9O �L( 9? .L�K9ल� o=.??(, :910?#? �O  9-9O -?O �O्䵔 /े䜂 ,P ल? :I� :P? 

A. 
0?=लI �I +??)]/?� B. 
ቖ嚚?-0O��},?0I .P.?0 

C. ;>=?;ल� �I +??)]/?� D. /.I0?- _�0 �? .P.?0 

 

Q24. Elections for the Panchayat are done by _________. 

A. Raising hands B. Open ballot 

C. Secret ballot D. Forming Groups 

Q24. +��?0$ �? �I(?= _________ �O  द♍=?1? ��0? ??$? :P। 

A. ??- �??�0 B. �Iल? .,.?0 

C. �Io, .,.?0 D. @.ू?  0?�0 
 

Q25. The Election Commissioner can be removed by __________. 

A. The Parliament B. The President of India 

C. The Prime Minister of India D. The Vice President of India 

Q25. �I(?= �0I-$ �K __________ �O  द♍=?1? :�?0? ?? 9�$? :P। 

A. @�@. B. -?0, �O  0?�र+-, 

C. -?0, �O  9/?0 .�्䵔I D. -?0, �O  �+0?�र+-, 

 

Q26. In India, power to increase the number of judges in Supreme Court lays with 
__________. 

A. The Chief Justice of Supreme Court B. The President of India 

C. The Home Minister of India D. The Parliament of India 

Q26. .?1$ /े䜂, 9=ोचᩍ� m0?0?ल0 /े䜂 m0?0?'I>ो䬂 �I 9�_0? -+?(O �? 
/'�?1, __________ �O  +?9 :P। 

A. @=Kचᩍ� m/?/?ल/ �O  .I_/ m/?/?/I> B. -?0, �O  0?�र+-, 

C. -?0, �O  �?ृ .�्䵔I D. -?0, �I @�@. 
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Q27. Which of the following periods are coldest in Haryana? 

A. October-November B. November-December 

C. February-March D. December-January 

Q27. �(/े䜂 9O ��9 
=/' /े䜂 :910?#? /े䜂 9-9O जᱍ0?&?  o! +?$I :P? 

A. 
]�ू 0-0=� 0 B. 0=ቘ墚 0-9.@ቘ墚 0 

C. ,0=0I-.?�? D. 9.@ቘ墚 0-�0=0I 
 

Q28. ________ is the largest producer of cotton in Haryana. 

A. Panchkula B. Karnal 

C. Sirsa D. Kurukshetra 

Q28. ________ :910?#? /े䜂 �+?9 �? 9-9O -?? �m+?&� :P। 

A. +���I ल? B. �00?ल 

C. ;@0@? D. �I रぁ�O्䵔 
 
 

Q29. "Murrah" is the breed of which animal? 

A. Goat B. Buffalo 

C. Sheep D. Cow 

Q29. '/I1?/' ��9 ??(=1 �I (}ल :P? 

A.  �0I B. -ै䠂@ 

C. -O] D. �?/ 

 

Q30. Pick the odd one out: 

 
8, 9, 10, 11 

A. 8 B. 9 

C. 10 D. 11 
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Q30. 
9��$ �? �0( �1े䜂:  
 

8, 9, 10, 11 

A. 8 B. 9 

C. 10 D. 11 

 

Q31. Find the analogy. 

 
CdD : DcC :: EfF : ? 

A. FeE B. feE 

C. Fef D. Ffe 

Q31. 9/?($? "ू�"े䜂। 
 
CdD : DcC :: EfF : ? 

A. FeE B. feE 

C. Fef D. Ffe 

 

Q32. Find the missing number. 
 
0, 3, 8, ?, 24, 35 

A. 12 B. 15 

C. 16 D. 20 

 

Q32. 
(I+�}%$ 9�_0? _?$ �1े䜂। 
 
0, 3, 8, ?, 24, 35 

A. 12 B. 15 

C. 16 D. 20 

 

Q33. If BAD is coded as 7. How will GOOD be coded as? 

A. 12 B. 21 

C. 41 D. 14 

Q33. 09& ए� �K! .??? /े䜂 BAD �K 7 9ल?? ??$? :P $K GOOD �K -0? 9ल?? ??ए�?? 

A. 12 B. 21 

C. 41 D. 14 
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Q34. Find the value of X in the following equation: 

 

 

A. 5 B. 4 

C. 3 D. 2 

Q34. )(म⹍(9ल�?$ 9/I�1# /े䜂 X �? /?( )(�?ले䜂:  
 

 

A. 5 B. 4 

C. 3 D. 2 

 

Q35. There are two events namely A and B in an experiment. If P(A) = 0.9, P(B) = 0.5 and 
P(A ∩ B) = 0.2, find P(A|B). 

A. 1/5 B. 2/5 

C. 3/5 D. 4/5 

Q35. ए� �0K� /े䜂 &K  �(?ए� A �1 B :ै䠂। 09& P(A) = 0.9, P(B) = 0.5 �1 P(A ∩ B) = 0.2 :K $K P(A|B) �? 
/?( )(�?ले䜂| 

A. 1/5 B. 2/5 

C. 3/5 D. 4/5 

 

Q36. What percent of 1000 litres is 15 litres? 

A. 1% B. 2% 

C. 1.5% D. 2.5% 

Q36. 1000 लI�1 �? ��$(? �)$>$ 15 लI�1 :K$? :P? 

A. 1% B. 2% 

C. 1.5% D. 2.5% 
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Q37. John bought a watch for Rs.1560. He sold it at a loss of 1.5%. What was the selling 

price of his watch? 

A. Rs. 1489.50 B. Rs. 1319.40 

C. Rs. 1223.45 D. Rs. 1536.60 

Q37. ?I( (O 1560 y+0O /े䜂 ए�  ?I ?1I&I। �9(O �9O 1.5% (I�9?( +1 -O� 9&0?। �9�I  ?I �? o=ि0 /ूल㉍0 ��$(? %?? 

A. 1489.50 रぁ+/O B. 1319.40 रぁ+/O 

C. 1223.45 रぁ+/O D. 1536.60 रぁ+/O 
 

Q38. An example that shows the elasticity of an object is a _________. 

A. stretching rubber band B. rolling ball 

C. sliding door D. moving fan 

Q38. _________ ए� =}$I �I लK� �K &>?/(O =?ल? ए� �&?:1# :P। 

A. 0 0  ै䠂) �? ,P ल0? B. �े䜂. �? लI+�0? 

C. .0=?�O �? @0�0? D. +��O �? �ल0? 
 

Q39. A branch of science that deals with the use of scientific processes for the extraction of 
metal from its ores is known as __________. 

A. Biochemistry B. Immunology 

C. Metallurgy D. Molecular chemistry 

Q39. o=_?( �I ए� >??? ?K '?$I �O  
0}�ो䬂 9O '?$I �O  )(��?/# �O  9लए =P_?)(� ��ि0?�� �O  �+0K� 9O 9�-�/'$ :P, �9O 
__________ �O  (?/ 9O ??(? ??$? :P। 

A. �I= 0@?/0 ==_?0 B. 9-,0�? ==_?0 

C. /?,I ==_?0 D. �+==� 0@?/0 ==_?0 

 

Q40. First level consumers in a food chain include the ___________. 

A. Carnivores B. Decomposers 

C. Producers D. Herbivores 
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Q40. �:?1 �ृ�?ल? /े䜂 +:लO }$1 �O  �+.K-$?�� /े䜂 ___________>?9/ल :ै䠂। 

A. .?�@???0I B. 
+ �0�?0I 

C. �त⑍+?.� D. >?�???0I 
 

Q41. __________ is the synonym of "DIVERSE". 

A. Different B. Similar 

C. Related D. Alike 

 

Q42. __________ is the antonym of "HEALTH". 

A. Weight B. Disease 

C. Happiness D. Diet 

 

Q43. Identify the meaning of the idiom.  
 
"Go with the flow." 

A. Give up on something B. Change the topic 

C. To waste time D. Be more relaxed and let things happen 

 

Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"Mukesh studied all night for giving his exams." 

A. Mukesh study all night for his exams. B. Mukesh studied all night giving exams. 

C. Mukesh studied all night for his exams. D. All night Mukesh studied for exams. 

 

Q45. Complete the sentence by choosing the correct word. 
 

The girl ___________ the little boy from drowning. 

A. saved B. killed 

C. threw D. helped 
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Q46. )(म⹍( >m& �? +0?/0=?�I >m& -$?�0े䜂। 
 

 


�� 

A. =@0 B. -?� 

C. .ल D. �.ू 
 

Q47. )(म⹍( >m& �? o=+1I$ (o=लK/) 
%/ -$?�0े䜂। 
 
 

�O$( 

A. @??+ B. �] 

C. +त⑍-0 D. },I -, ? 
 

Q48. (I�O 9ल?O /I:?=1O �? �/�$ 
%/ -$?0े䜂। 
 
 

/�-?0?? /?1(? 

A. �I]O .�L]O .?00? B. .?0? .?0?  ू.0? 

C. -0�ቘ墚.O 0?�0 @./ - ,?0? D. ��? ��? �mm.�I ,P ल?0? 
 

Q49. (I�O 9ल?O >m& �? -:I=�( -(?0े䜂। 
 

 

+�I 

A. +�I/ो䬂 B. +्䵌�/K 

C. +्䵌�/ो䬂 D. +�I/?? 
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Q50. (I�O 9ल?O >m& �? ए�=�( -(?0े䜂। 
 

)!--0?? 

A. )I I/? B. )I- /? 

C. ))- ए D. ))- /? 
 

Q51. When was the Unified Soil Classification System (USCS) devised? 

A. 1942 B. 1919 

C. 1945 D. 1954 

Q51. ए�I�ृ$ /&ृ? =�ी�1# �#?लI (0ू.ए9.9I.ए9) �- $P0?1 �I �� %I? 

A. 1942 B. 1919 

C. 1945 D. 1954 

 

Q52. Which of the following defines the maximum gross pressure intensity to which the soil 
at the base of foundation can be subjected without risk of shear failure? 

A. Ultimate bearing capacity B. Allowable bearing pressure 

C. Safe bearing capacity D. Gross pressure intensity 

Q52. )(म⹍( /े䜂 9O �L(, 
/'�$/ 9�ल &-?= $I}$? �K +91.?o?$ �1$? :P �?9�O  �'?1 +1 (I�= �O  �'?1 +1 9/्䴾I �K 
�$1(I o=,ल$? �O  ?K�?/ �O  --(? 
'I( ��0? ?? 9�$? :P? 

A. 
�-,. =?0 �.,? B. }=I�?/? =?0 . ?= 

C. @I0्䵌�, =?0 �.,? D. @�ल . ?= ,I},? 
 

Q53. Which of the following is a pile made up of two different materials like concrete and 
timber or concrete and steel? 

A. Timber B. Concrete 

C. Steel D. Composite 

Q53. �(/े䜂 9O �L(, �� िI� �1 ल�?I 0? �� िI� �1 }�Iल ?P9I &K 
ल�-
ल� �I?ो䬂 9O -(? ए� "O1 :P? 

A. ल�]I B. �� ्䵅I� 

C. }�Iल D. �ቘ墚+Km�� 
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Q54. A group of ____________ gages arranged in a particular fashion is called a strain 

rosette. 

A. Three B. Four 

C. Six D. Eight 

Q54. ए� o=>O? ,P >( /े䜂 }0=�}%$ ____________ �O? �O  ए� 9/ू: �K ए� }रO( 1I9O� �:? ??$? :P। 

A. ,I0 B. �?0 

C. �ः D.  

 

Q55. Identify process that is known as the croning process. 

A. Evaporative pattern casting B. Investment casting 

C. Shell moulding D. Ceramic shell investment casting 

Q55. �9 ��ि0? �K +:�?(े䜂 �?9O िK)(�� ��ि0? �O  (?/ 9O ??(? ??$? :P। 

A. =?�+I�0+I/ +P�0? �?m}��� B. �m=O}�.े䜂� �?m}��� 

C. >Oल .Kmल㉍)�� D. ;@0O;.� >Oल �m=O}�.े䜂� �?m}��� 

 

Q56. Identify the phase of automation migration strategy that involves automated 
production using single-station automated cells operating independently. 

A. Phase 3 B. Phase 1 

C. Phase 2 D. Phase 4 

Q56. ऑ�K/O>( /?�्䵇O>( 1#(I)$ �O  �9 �1# �I +:�?( �1े䜂 �?9/े䜂 }=$�्䵔 z+ 9O 9��?9ल$ :K(O =?लO 99��ल-}�O>( ऑ�K/O�O! 
9Oल㉍9 �? �+0K� �1�O  }=�?9ल$ �m+?&( >?9/ल :K$? :P। 

A. �0+ 3 B. �0+ 1 

C. �0+ 2 D. �0+ 4 

 

Q57. Which of the following element receives energy and then either converts it into heat or 
stores it in an electric or magnetic field? 

A. Active B. Passive 

C. Bilateral D. Unilateral 
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Q57. )(म⹍( /े䜂 9O �L( 9? $m= �??/ �?o$ �1$? :P �1 �9�O  -?& 0? $K �9O �/ी /े䜂 +91=)$/$ :K ??$? :P 0? �9O o=द♍0I$ 0? 
�I�-�I0 �O्䵔 /े䜂 9�्䵇:I$ �1$? :P? 

A. @�्䵅/ B. -0m�्䵅/ 

C. .K,0,? D. ए�,0,? 
 

Q58. Which of the following is not a bilateral element? 

A. Resistance B. Inductance 

C. Diode D. Capacitance 

 

Q58. �(/े䜂 9O �L( ए� द♍o=+�I0 $m= (:I� :P? 

A. 9-,0K/ B. ��)]�े䜂@ 

C. )?/K) D. �P +;@�े䜂@ 

 

Q59. The efficiency in per unit of a D.C. machine is calculated as: 

A.  = output power - input power B.  = output power + input power 

C.  = output power  input power D.  = input power - output power 

Q59. ए� !I.9I. />I( �I �)$ 0ू)(� �I &�$? �I �#(? �9 ��?1 �I ??$I :P: 

A.  = ���+I� +?=0 - �0+I� +?=0 B.  = ���+I� +?=0 + �0+I� +?=0 

C.  = ���+I� +?=0  �0+I� +?=0 D.  = �0+I� +?=0 - ���+I� +?=0 
 

Q60. Which of the following diode acts as negative resistance device in microwave 
frequency generation? 

A. Laser B. Avalanche 

C. Crystal D. Varactor 

Q60. )(म⹍( /े䜂 9O �L( 9? !?0K!, /?�िK=O= �I-=े䜂9I ?(1O>( /े䜂 )(�O9�= �)$1K' )!=?�9 �O  z+ /े䜂 �?0/ �1$? :P? 

A. लOज᰼0 B. ए=ल?�� 

C. �्䵅}�ल D. =P0O]�0 
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Q61. Identify the flip-flop which is constructed either using two cross-coupled digital NAND 

gates or two cross-coupled digital NOR gates? 

A. SR B. JK 

C. Data or Delay D. Toggle 

Q61. �9 �;ल+-;लI+ �I +:�?( �1े䜂 �?9O &K +?1-0I�//$ )!�?�ल ए(.ए.ए(.!I. �OटὍ9 0? &K +?1-0I�//$ )!�?�ल 

ए(.�.�1. �OटὍ9 �? �+0K� �1�O  -(?0? ??$? :P? 

A. ए@.�0. B. �O.�O . 

C. )O�? /? ))लO D. �I�ल 

 

Q62. What is the total number of programmable links in a Programmable Logic Array (PLA)? 
[n=number of inputs, k= the number of product terms, m= number of outputs] 

A. k * m B. 2n * k 

C. 2n * k + k * m + 2m D. 2k * m 

Q62. �K्䵇?//O-ल लI�?� ए1O (+I.एल.ए.) /े䜂 �K्䵇?/ 0K/0 9ल��ो䬂 �I �I ल 9�_0? ��$(I :K$I :P? 

[n = �(+I� �I 9�_0?, k = �m+?& >m&ो䬂 �I 9�_0?, m = ���+I� �I 9�_0?] 

A. k * m B. 2n * k 

C. 2n * k + k * m + 2m D. 2k * m 

 

Q63. The ENIAC computer is an example of _______________ computing devices. 

A. First generation B. Second generation 

C. Third generation D. Fifth generation 

Q63. ENIAC �� o0ू�1 _______________ �O  �� o0ू9��� �+�1#ो䬂 �? ए� �&?:1# :P। 

A. +?लI +I+I B. .@ू0I +I+I 

C. ,I@0I +I+I D. +?��=I� +I+I 
 

Q64. 1 Petabyte = ? 

A. 1024 KB B. 1024 MB 

C. 1024 GB D. 1024 TB 
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Q64. 1 +O�?-?�� = ? 

A. 1024 �O . I. B. 1024 ए.. I. 

C. 1024 �I. I. D. 1024 �I. I. 
 

Q65. Which of the following operator is used in decision making in C programming? 

A. Assignment B. Relational 

C. Logical D. Conditional 

Q65. 9I (C) �K्䵇?9/�� /े䜂 )(#/0 लO(O �O  9लए )(म⹍( /े䜂 9O ��9 ऑ+1O�1 �? �+0K� ��0? ??$? :P? 

A. 
@?�0.े䜂� B. 90लO>0ल 

C. लIm��ल D. �� )I>0ल 

 

 
Q66. Which of the following logical operator in SQL allows the existence of multiple 
conditions in an SQL statement's WHERE clause? 

A. ALL B. ANY 

C. AND D. EXISTS 

Q66. ए9.-0ू.एल.(SQL) /े䜂 )(म⹍( /े䜂 9O �L( 9? लI�?�ल ऑ+1O�1, ए� ए9.-0ू.एल.(SQL) }�O�/े䜂� �O  WHERE -लI? /े䜂 
�� �}%)$0ो䬂 �O  
�}$m= �I 
(I/)$ &O$? :P? 

A. ALL B. ANY 

C. AND D. EXISTS 

 

Q67. When a change in price does not affect the demand of products in the market, then it 
is said to be ________ demand. 

A. Elastic B. Inelastic 

C. Curved D. Flexible 

Q67. ?- �I/$ /े䜂 +91=$/(, -???1 /े䜂 �m+?&ो䬂 �I /?�� �K �.?o=$ (:I� �1$? :P, $K �9O ___________ /?�� �:? ??$? :P। 

A. लK�.?0 B. 
लK�.?0 

C. =्䵅 D. ल�Iल? 
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Q68. The study of microeconomics deals with understanding the _________. 

A. Amount of a country's financial income B. Percentage of employment in a country 

C. Quantity of resources exported D. Demand and supply of goods in individual 

markets 

Q68. 9ूቌ䲚/ 
%/>?}्䵔 �? 
o00( __________ �K 9/�(O 9O 9�-�/'$ :K$? :P। 

A. ��@I .O> �I ==त⑍,I/ �/ �? +90.?+ B. ए� .O> .े䜂 0K��?0 �? 9-,>, 

C. -0/??, ��ए �ए @�@?/0ो䬂 �I .?्䵔? D. }/m],�,  ?�?0ो䬂 .े䜂 =},I�� �I .?�� �0 �+-ू,? 
 

 
 
Q69. What will be the term in the empty box on the X axis of this graph? 

 

A. Period B. Quantity 

C. Competitors D. Revenue 

Q69. �9 ्䵇?, �O  X 
� +1 ??लI -I-9 /े䜂 �L( 9? >m& :K�?? 

 

A. 
=�/ B. .?्䵔? 

C. 9-,/K�I D. 0?�}= 
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Q70. Food and water fall under the category of ___________ goods. 

A. Luxury B. Necessity 

C. Inferior D. Superior 

Q70. �:?1 �1 +?(I ___________ =}$I�� �I �O#I �O  
�$�/$ �$O :ै䠂। 

A. ==ल?;@,? B. �=�/� 

C. 
=0 D.  

 

Q71. ______ is the most common index to measure the rate of inflation. 

A. Consumer Price Index B. Producer Price Index 

C. Sale Price Index D. Charge Price Index 

Q71. ________, /I्䵖?},I)$ �I &1 �K /?+(O �? 9-9O �/ 9ू��?�� :P। 

A. �+-K],? .लू㉍/ @�ू�?�� B. �त⑍+?.� .लू㉍/ @�ू�?�� 

C. - ्䵅I .लू㉍/ @�ू�?�� D. >Iल㉍� .लू㉍/ @�ू�?�� 

 

Q72. Expanded form of GDP is ________. 

A. General Domestic Price B. Gross Domestic Product 

C. Gross Depreciation Price D. General Demolition Product 

Q72. ?I.!I.+I. �? o=}$?91$ z+ ________ :P। 

A. @?.?m/  0Oलू .लू㉍/ B. @�ल  0Oल ू�त⑍+?. 

C. @�ल .लू㉍/्䵩?@ .लू㉍/ D. @?.?m/ 
=.लू㉍/0 �त⑍+?. 
 

Q73. Which one of these is not an example of an intermediate good? 

A. Salt B. Wheat 

C. Cement D. Clothes 

Q73. �(/े䜂 9O �L(, ए� /o0=$ी =}$I �? �&?:1# (:I� :P? 

A. 0.� B. �O?ू? 

C. @I.े䜂� D. �+]O 
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Q74. What term will be inserted in the empty box on the following business cycle graph? 

 

 

A. Contraction B. Expansion 

C. Recession D. Depreciation 

Q74. )(म⹍(9ल�?$ }0?+?1 �ि ्䵇?, /े䜂 ??लI -I-9 /े䜂 �L( 9? >m& !?ल? ??ए�?? 

 

 

A. @��I �0 B. ==},?0 

C. .�.I D. .लू㉍/्䵩?@ 

 

Q75. Axis Bank was previously known as: 

A. Sarvodaya Bank B. Vijaya Bank 

C. Global Trust Bank D. UTI Bank 
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Q75. ए�-99 -ै䠂� �K +:लO ��9 (?/ 9O ??(? ??$? %?? 

A. @=K./  ै䠂� B. ==�/?  ै䠂� 

C. _लK ल र}�  ै䠂� D. /ू.�I.��.  ै䠂� 

 

Q76. Short Term borrowings, as per RBI is borrowing of tenor up to but less than 
_________. 

A. Two years B. One Year 

C. Three months D. Six months 

Q76. �1.-I.��. �O  
(I9?1, 
ल㉍+�?9ल� �# ___________ $� 0? �99O �/ 
=/' =?ल? �# :P। 

A. .K =?? B. ए� =?? 

C. ,I0 .?I0O D. �ः .?I0O 
 

Q77. MPC stands for ________. 

A. Marginal Policy Committee B. Monetary Payment Committee 

C. Marginal Payment Committee D. Monetary Policy Committee 

Q77. ए/.+I.9I. �? +ू1? (?/ ________ :P। 

A. @I.?�, 0I-, @;.-, B. .L9�� -I�,?0 @;.-, 

C. @I.?�, -I�,?0 @;.-, D. .L9�� 0I-, @;.-, 

 

Q78. Indian Government's policy about exports and imports is called _________. 

A. Finance Policy B. EXIM policy 

C. Monetary Policy D. Fiscal Policy 

Q78. )(0?/$ �1 �0?$ �O  -?1O /े䜂 .?1$ 91�?1 �I (I)$ �K _________ �:? ??$? :P। 

A. ==त⑍, 0I-, B. एm]ज᰼. (EXIM) 0I-, 

C. .L9�� 0I-, D. 0?��K?I/ 0I-, 
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Q79. According to economist Amartya Sen, economic growth is one aspect of the process of 

_______. 

A. Economic development B. Rise in government resource 

C. Rise of inflation D. Population growth 

Q79. 
%/>?}्䵔I 
/m0/ 9O( �O  
(I9?1, �/%/� =oृि ______ �I ��ि0? �? ए� +:लू :P। 

A. ��-?� ==�?@ B. @0�?0I @�@?/0ो䬂 .े䜂 ==ृቖ嚚 

C. .I�?},I-, �I ==ृቖ嚚 D. �0@�_/? ==ृቖ嚚 

 

Q80. In which type of economy there is no market, hence no competition? 

A. Capitalism B. Socialism 

C. Mixed economy D. Market economy 

Q80. ��9 ��?1 �I 
%/}0=}%? /े䜂 �K� -???1 (:I� :K$? :P, �99लए �K� �)$}+'?/ (:I� :K$I :P? 

A. +ू��I=?. B. @.?�=?. 

C. ;.��, 
-?}/=}-? D.  ?�?0 
-?}/=}-? 
 

Q81. The average of three statistics: basic literacy rate, infant mortality, and life 
expectancy at age one, all equally weighted on a 0 to 100 scale. What is it called? 

A. Human Development Index B. Physical Quality of Life Index 

C. The Laspeyres Index D. Life Development Index 

Q81. $I( �?�?ो䬂 �I �9$ : /ूल 9?�1$? &1, 9>>I /mृ0I &1, �1 ए� =?/ /े䜂 ?I=( �m0?>?, 9.I �K ए� 9/?( z+ 9O 0 9O 
100 +P/?(O +1 /?+? ??$? :P। �9O -0? �:$O :P? 

A. .?0= ==�?@ @�ू�?�� B. �I=0 �I -L-,� �I+=त⑍,? �? @�ू�?�� 

C. लP}+O/@? @�ू�?�� D. �I=0 ==�?@ @�ू�?�� 

 

Q82. Which amongst the following is NOT an example of Non-tax revenues? 

A. Parking Fines B. Property Tax 

C. Foreign Aid D. Tolls charged for the use of toll roads 
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Q82. )(म⹍( /े䜂 9O �L(, �P1-�1 1??}= �? �&?:1# (:I� :P? 

A. +?��ं� �I.??0? B. @�+mत⑍, �0 

C. ==.O>I @??/,? D. +- �0 @]�ो䬂 �O  �+/K� �O  ;लए ;ल/? �?0O =?ल? +- �0 
 

Q83. Which tax is often collected on a pay-as-you-earn basis? 

A. Personal Income Tax B. Service Tax 

C. Value Added Tax D. Corporate Tax 

Q83. �/?(O-�O -9?%-.I�$?(-�1े䜂 �'?1 +1 
-91 �L( 9? �1 ए�्䵔 ��0? ??$? :P? 

A. }/m],�, �/�0 B. @O=? �0 

C. .लू㉍/ =�/?, �0 D. �I+K0O� �0 
 

Q84. A method of distributing tax burdens through time rather than a replacement for taxes 
is called as _________ . 

A. Government Borrowing B. Income Distribution 

C. Government Investment D. Government Expenditures 

Q84. �1 �O  �)$}%?+( �O  -??0 9/0 �O  /?o0/ 9O �1 �O  -K� �? o=$1# �1(O �I ए� o=/' �K ________ �:? ??$? :P। 

A. @0�?0I �/?0 B. �/ ==,0+ 

C. @0�?0I -0=O> D. @0�?0I }// 

 

Q85. India ranks _______ in the production of milk globally. 

A. First B. Second 

C. Third D. Fourth 

Q85. o=�= }$1 +1 &'ू �O  �m+?&( /े䜂 .?1$ �K __________ }%?( �?o$ :P। 

A. +?ल? B. .@ू0? 

C. ,I@0? D. �L-? 
 

Q86. The Indian economy is referred to as ________. 

A. Pure economy B. Free economy 

C. Mixed economy D. Independent economy 
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Q86. .?1$I0 
%/}0=}%? �K __________ �O  (?/ 9O ??(? ??$? :P। 

A. >Iቖ嚚 
-?}/=}-? B. .Io, 
-?}/=}-? 

C. ;.��, 
-?}/=}-? D. }=,�्䵔 
-?}/=}-? 
 

Q87. In India, the public sector is more dominant in the _________ segment. 

A. Transport B. Textile 

C. Agriculture D. Commercial banking 

 

Q87. .?1$ /े䜂, 9?=/?)(� �O्䵔, _________ ?�! /े䜂 
/'� �.?=>?लI :P। 

A. +90=?0 B. =}्䵔 

C. �ृ=? D. �.;>?/ल  ै䠂��� � 

 

Q88. The Chairman of the Planning Commission (NITI Aayog) in India is the ________. 

A. Prime Minister B. President 

C. Finance Minister D. Chief Minister 

Q88. .?1$ /े䜂 0K?(? �0K� ((I)$ �0K�) �O  
o0� __________ :K$O :ै䠂। 

A. 9/?0.�्䵔I B. 0?�र+-, 

C. ==त⑍, .�्䵔I D. .I_/ .�्䵔I 
 

Q89. The Union Minister who currently heads the Ministry of Skill Development and 
Entrepreneurship is : 

A. Sushma Swaraj B. Jayant Sinha 

C. Dharmendra Pradhan D. Narendra Modi 

Q89. �O m्䵖I0 /�्䵔I ?K =$//?( /े䜂 �L>ल o=�?9 ए=� �द♍09/$? /�्䵔?ल0 �O  �/I? :ै䠂 : 

A. @I?.? }=0?� B. �/�, ;@m?? 

C. /.े䜂� 9/?0 D. 00े䜂� .K.I 
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Q90. When was the tripartite Committee Viz. "The Committee on Fair Wage" setup? 

A. 1948 B. 1942 

C. 1950 D. 1945 

Q90. -्䵔+�I0 99/)$ 
%?/$ ्"�/�$ =O$( 99/)$" �I }%?+(? �- :I� %I? 

A. 1948 B. 1942 

C. 1950 D. 1945 

 

Q91. Which of the following country was the first to join the global programme "The 
International Programme on the Elimination of Child Labour" in 1992? 

A. Germany B. United States of America 

C. India D. France 

 

Q91. 1992 /े䜂 =P��=� �?0/ि/ "
�$1?/�रI0 -?ल �/ �m/ूल( �?0/ि/" /े䜂 >?9/ल :K(O =?ल? +:ल? &O> �L( %?? 

A. �.?0I B. @�/I], 0?जᱍ/ 
.O90�? 

C. -?0, D. o?�@ 

 

Q92. Which company has raised $1.4 billion funding from SoftBank Group, the Japanese 
Internet and telecom major? 

A. Flipkart B. Airtel 

C. Paytm D. PayPal 

Q92. ��9 �� +(I (O 9I;�-ै䠂� ्䵇I+, ??+?(I ���1(O� �1 &1ू9��?1 �/I? 9O 1.4 --9ल0( !Iल1 '( ?I�?0? :P? 

A. moल+�?�? B. ए/0�Oल 

C. +O�Iए. D. +O+ल 

 

Q93. According to the IMF, India's growth is expected to rebound to ________ in the 2017-
18 fiscal. 

A. 7.2% B. 6.9% 

C. 17% D. 17.32% 

Q93. ��.ए/.ए,. �O  
(I9?1, o=m$I0 =?/ 2017-18 /े䜂 .?1$ �? o=�?9 �,1 9O ________ +1 �(O �I 9�.?=(? :P। 

A. 7.2% B. 6.9% 

C. 17% D. 17.32% 

www.mseducationtv.com



 

Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and 

Commerce Department, Haryana) 

 Morning Session 

 

Page 27 of 29 

 

 

Q94. Which of the following cooperative society has signed Memorandum of Understanding 

with Government of Sikkim to explore business opportunities in organic value chain? 

A. Indian Farmers Fertiliser Cooperative (IFFCO) B. Krishak Bharati Cooperative Limited (KRIBHCO) 

C. Sant Muktabai Sahakari Sakhar Karkhana D. Horticultural Producers' Cooperative Marketing 

and Processing Society 

Q94. )(म⹍(9ल�?$ /े䜂 9O ��9 9:�?1I 99/)$ (O ?Po=� /ूल㉍0 �ृ�?ल? /े䜂 }0=9?0 �O  
=91 $ल?>(O �O  9लए 99�-�/ 91�?1 �O  
9?% ए� 9/�L$? _?+( +1 :}$?�1 ��0? :P? 

A. -?0,I/ ��@?0 �=?0� @?�?0I @;.-, (�,�K) B. �ृ?� -?0,I @?�?0I ;ल;.�O) (�्䵅-�K) 

C. @�, .I],? ?� @?�?0I @?�0 �?0�?0? D.  ?�=?0I �त⑍+?.� @?�?0I ==++0 ए=� 9@�}�0+ @K@?/�I 
 

 
 
Q95. World's net Balance of Payment is always ________. 

A. One B. Zero 

C. Two D. Five 

Q95. o=�= �O  .I�$?( �? >Iि >O? :/O>? _____ :K$? :P। 

A. ए� B. >mू/ 

C. .K D. +?�� 

 

Q96. What is customs duty? 

A. The tax levied on the import of goods. B. The direct tax levied on the import or export of 

goods in international trade. 

C. The indirect tax levied on the import or export 

of goods in international trade. 

D. The exchange of surplus produced goods 

across international borders. 

Q96. 9I/? >Iल㉍� -0? :P? 

A. =},I�� �O  �/?, +0 ल�0O =?ल? �0। B. 
�,0??�रI/ }/?+?0 .े䜂 =},I�� �O  �/?, /? -0/??, +0 ल�0O 
=?ल? 9त⑍/� �0। 

C. 
�,0??�रI/ }/?+?0 .े䜂 =},I�� �O  �/?, /? -0/??, +0 ल�0O 
=?ल? 
9त⑍/� �0। 

D. 
�,0??�रI/ @I.? �O्䵔ो䬂 .े䜂 
�/>O? �त⑍+?9., =},I�� �? 
�.?0-9.?0। 
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Q97. A financial institution that manages the functioning of other institutions that finance 

export and import trading activities in India is ______. 

A. EXIM bank B. ICICI bank 

C. Unit Trust of India D. Small Industries Development Bank of India 

Q97. __________ ए� o=m$I0 9�}%?( :P ?K .?1$ /े䜂 )(0?/$ �1 �0?$ }0?+?1 �)$o=/'0ो䬂 �? o=m$+K?# �1(O =?लO 

m0 9�}%?(ो䬂 �O  �?/�?? �? �-�'( �1$? :P। 

A. एm]�. (EXIM)  ै䠂� B. ��.@I.��.@I.��.  ै䠂� 

C. /-ू0� र}� ऑ, ��))/? D. -?0,I/ ल I �द♍/K� ==�?@  ै䠂� 

 

Q98. ________ acts as a Banker's Bank. 

A. EXIM bank B. SBI bank 

C. Unit Trust of India D. Reserve Bank of India 

 
 

Q98. __________ ए� -ै䠂�1 �O  -ै䠂� �O  z+ /े䜂 �?0/ �1$? :P। 

A. एm]�. (EXIM)  ै䠂� B. ए@. I.��.  ै䠂� 

C. /-ू0� र}� ऑ, ��))/? D. -?0,I/ 90�=?  ै䠂� 

 

Q99. Which one of these companies do not fall under Public Sector Enterprise? 

A. Bharat Petroleum Corporation Limited B. Oil and Natural Gas Corporation 

C. Reliance Industries Limited D. Steel Authority of India Limited 

Q99. �(/े䜂 9O �L( 9I �� +(I, 9?=/?)(� �O्䵔 �O  �द♍0/ �O  
�$�/$ (:I� �$I :P? 

A. -?0, +OरK;ल/. �I+K0O>0 ;ल;.�O) B. ,Oल ए=� 9?�ृ-,� �P@ -0�. 

C. 90ल?/�@ ��)}रI� ;ल;.�O) D. -?0, �}+?, 9?�/�0+ ;ल;.�O) 
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Q100. In a ________ budget, the revenues and expenditures are equal. 

A. Deficit B. Balanced 

C. Additional D. Small 

Q100. ए� ________ -?� /े䜂, 1??}= �1 }00 ए� 9/?( :K$O :ै䠂। 

A.  ?�? B. @�,I;ल, 

C. 
-,90], D. �K�? 
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Q1. In 1931, the British government hanged Sukhdev, Rajguru and _______. 

A. Alluri Sitarama Raju B. Ram Prasad Bismil 

C. V. D. Savarkar D. Bhagat Singh 

Q1. 1931 /े䜂, }?�?> 91�?1 1O 9I�/O=, 1?��Iz �1 ___________ �K ,?@9I +1 ल?�?0? .?। 

A. 
ल㉍ल0ूI @I$?0?. 0?�ू B. 0?. �@?& -?}/.ल 

C. =I.!I. @?=0�0 D. -�$ 9@?A 
 

Q2. _________ won the 2017 T20 Blind cricket World cup. 

A. Pakistan B. England 

C. India D. South Africa 

Q2. 2017 T20 mल?�@* }ि�O ? =्䵢*) �+ _________ 1O �I-?। 

A. +?��/$?( B. �?�लै䠂! 

C. -?0$ D. &्䵌ि# 
�I�? 
 

Q3. _______ is the summer capital of Jammu and Kashmir. 

A. Aknoor B. Jammu 

C. Baramula D. Srinagar 

Q3. ___________ �o/ू �1 ��/I1 �I ्䵇I�/�?लI1 1?�0?1I :P। 

A. 
�(0ू B. �म⹍.ू 

C. ??0?.Iल? D. ्䵦I(�0 
 

Q4. Pradhan Mantri Jeevan Jyoti Bima Yojana provides life insurance cover to all citizens of 

India between the age-group of ______ . 

A. 18 to 70 B. 18 to 50 

C. 18 to 60 D. 21 to 50 

Q4. ्䵚0?1 /@्䵔I �I=1 जᱍ0K-- -I/? 0K�1? _____ =}) �I �0I �O  9.I .?1-I0 1?�91�ो䬂 �K �I=1 -I/? 9I1�? ्䵚/?1 �1-I :P। 

A. 18 @O 70 B. 18 @O 50 

C. 18 @O 60 D. 21 @O 50 
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Q5. King Harshavardana adopted ______ as his capital although Thanesar was the 

established capital. 

A. Taraori B. Hansi 

C. Kurukshetra D. Kannauj 

Q5. 1?�? :})=0)1 1O _______ �K 
+1I 1?�0?1I -1?0? �-}� .?1O91 }.?++- 1?�0?1I .I। 

A. $?0?=0I B. A??@I 

C. �I yिO्䵔 D. �m(L� 

 

Q6. Who won the First Battle of Tarain? 

A. Mohammed Ghori B. Govind Tai 

C. Prithviraj Chauhan D. Jayachandra 

Q6. -1?ࠂई �I +:लI ल)?� }�91O �I-I? 

A. .KAम⹍.& ग़K0I B. �K==?& $?� 

C. +mृ=I0?� �LA?( D. �/�?्䵖 
 

Q7. Haryana state was carved out of Punjab on ______ basis. 

A. Religion B. Linguistic 

C. Population D. Geography 

Q7. ________ �O  �0?1 +1 +@�?- /े䜂 9O :910?,? 1?जᱍ0 �? -1/?), }�0? �0? .?। 

A. './ B. -??? 

C. �??&I D. -ू�Kल 

 

Q8. One can find the remains of the Indus valley civilization in ________ of the Hisar 
district. 

A. Rakhigarhi B. Hansi 

C. Narnaund D. Balsamand 

Q8. �:9?1 ��लO �O  _________ /े䜂 99@0I  ??I 9m0-? �O  
=>O} 9/ल 9�-O :ै䠂। 

A. 0?�I�+I B. A??@I 

C. (?0(ौ䰂& D. ??ल@.?& 
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Q9. The Ganda village of Haryana was recently in the news for ______. 

A. Name of the village changed B. Prime Minister’s visit 

C. Archaeology excavations D. Recent floods 

Q9. :910?,? �? �?@/? �?@= :?ल :I /े䜂 ________ �O  �?1, �-1ो䬂 /े䜂 .?। 

A. �??= �O  (?. .े䜂 ?&ल?= B. �'?( .?्䵔I �I /?्䵔? 

C. +I0?$m= �I&?� D. �� ??+ 
 

Q10. The Herbal Nature Park at Chuharpur Reserved Forest is in _____ district. 

A. Yamuna Nagar B. Gurugram 

C. Bhiwani D. Sonipat 

Q10. �I:?1+I1 �1्䵌�- =1 �? :-)ल 1O�1 +?�)  _____ ��लO /े䜂 :P। 

A. /.I(? (�0 B. �Iy्䵇?. 

C. 9-=?(I D. @K(I+$ 

 

Q11. One important activity that happens around Indira Gandhi Canal is __________. 

A. To increase fisheries B. To provide intra-country waterway 

C. To prevent desertification of fertile areas D. To produce hydro power 

Q11. ______________ �@�/1? �?@0I 1:1 �O  �9+?9 �� /:m=+ू,) �--+=/0 :K-I :P। 

A. .m// +?ल( �K ?+?(O �O  9लए B. 
?$0-&O> �ल.?�/ �&?( �0(O �O  9लए 

C. �+�?� िO्䵔ो䬂 �O  .y/%लI�0# �K 0K�(O �O  9लए D. �ल ==द♍/I$ �? �m+?&( �0(O �O  9लए 

 

Q12. Which festival is connected with snakes? 

A. Gugga Naumi B. Nirjala Ekadashi 

C. Teej D. Janmasthmi 

Q12. �L1 9? m0L:?1 9?@+ो䬂 �O  9?. �I)? :I� :P? 

A. �Iगᝍ�? (L.I B. )(�/ल? ए�?&>I 

C. $I� D. �m.?��.I 
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Q13. Which village has been renamed as Saraswati Nagar? 

A. Zaria B. Mustafabad 

C. Kaduna D. Nimrana 

Q13. }�9 �?@= �? 1?/ 91}=-I 1�1 1�? �0? :P? 

A. ज᰼90/? B. .I/$,???& 

C. �?&I(? D. (I.0?(? 
 

Q14. What does HSIIDC stand for? 

A. Haryana Standard Informatics & Infrastructure 

Development Corporation Limited 

B. Haryana State Informatics & Infrastructure 

Development Corporation Limited 

C. Haryana State Industrial & Infrastructure 

Development Corporation Limited 

D. Haryana Sports Information & Infrastructure 

Development Corporation Limited 

Q14. ��.�9.��.��.*I.9I. �? +ू1? 1?/ ]0? :P? 

A. A90/?#? /�ै䠂!!/ �?,I.े��कᕍ@ ए?! �?�?/रकᕍ�0 !O=ल+.े䜂� 
�I0+K0O>( 9ल9.�O! 

B. A90/?#? /�O� �?,I.े��कᕍ@ ए?! �?�?/रकᕍ�0 !O=ल+.े䜂� 
�I0+K0O>( 9ल9.�O! 

C. A90/?#? /�O� �?!}/र/ल ए?! �?�?/रकᕍ�0 !O=ल+.े䜂� 
�I0+K0O>( 9ल9.�O! 

D. A90/?#? /+K्䵏/@ �?,I.े>( ए?! �?�?/रकᕍ�0 !O=ल+.े䜂� 
�I0+K0O>( 9ल9.�O! 

 

Q15. Rajaram Shastri wrote ________ novel in Haryanvi language. 

A. Rana nimantran B. Jhadufiri 

C. Guru Govind Singh D. Yoddh Charit 

Q15. 1?�?1?/ >?}्䵔I 1O :910?,=I .?}? /े䜂 _________ �+m0?9 9ल�? .?। 

A. 0# )(.?्䵔# B. �?!ू�,0I 

C. �Iy �K==m& 9@?A D. /I्䵍 �90$ 

 

Q16. Which amongst the following fair is celebrated in Ballabgarh district of Haryana? 

A. Masani Fair B. Baldev Chatth Fair 

C. Suraj Kund Craft Mela D. Devi Fair 

 

 

 

www.mseducationtv.com



 

Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and 

Commerce Department, Haryana) 

 Afternoon Session 

 

Page 5 of 29 

 

Q16. :910?,? �O  -्䵢ल.�] ��लO /े䜂 -1o19ल��- /े䜂 9O �L1 9? /Oल? ल�-? :P? 

A. .@?(I .Oल? B. ?ल&O= �  .Oल? 

C. @0ू� �I? ! 9>ल㉍+ .Oल? D. &O=I .Oल? 
 

Q17. Several words in Haryanvi are similar to words in __________ language. 

A. German B. Finnish 

C. Spanish D. French 

Q17. :910?,=I �O  �� >m/ _______ .?}? �O  >m/ो䬂 �O  9/?1 :ै䠂। 

A. �./( B. �,)(> 

C. /+O)(> D. �े䜂 � 

 

Q18. Haryanvi men wear _______ ornament in legs. 

A. Kadi B. Nath 

C. Hansli D. Jhalra 

Q18. :910?,=I +Iy} +P1ो䬂 /े䜂 _______ �.ू}, +:1-O :ै䠂। 

A. �]I B. (% 

C. A?@लI D. �?ल0? 
 

Q19. ________ is the main source of irrigation in Haryana. 

A. Canals B. Well 

C. Rainfall D. Dams 

Q19. :910?,? /े䜂 99@�?� �? /I_0 ्䵨K- ________ :P। 

A. (A0े䜂 B. �I �? 

C. =??/ D. ???' 

 

Q20. Damdama lake is situated in _______ district. 

A. Gurgaon B. Hisar 

C. Rohtak D. Faridabad 
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Q20. ////? �Iल ________ ��लO /े䜂 �}.- :P। 

A. �I]�??= B. �A@?0 

C. 0KA$� D. ,0I&???& 
 

Q21. Where is Chaudhary Charan Singh University situated in Haryana? 

A. Chandigarh B. Ambala 

C. Karnal D. Hisar 

Q21. �L01I �1, 99@: +=�=+=द♍0?ल0 :910?,? /े䜂 �:?? �}.- :P? 

A. �?!I�+ B. 
म⹍??ल? 

C. �0(?ल D. �A@?0 
 

Q22. Which amongst the following is also a wild life sanctuary? 

A. Hathnikund Lake B. Brahma Sarovar 

C. Bhindawas Lake D. Karnal Sarovar Lake 

Q22. �1/े䜂 9O �L1 �� �@�लI �I= 
.0?1o0 :P? 

A. A%(I�I? ! �Iल B. }}.? @0K=0 

C. 9-?!?=?@ �Iल D. �0(?ल @0K=0 �Iल 

 

Q23. Which amongst the following is also called Indira Gandhi Canal? 

A. Rajiv Gandhi Nahar Yojana B. Gandhi Yojana 

C. Sichayi Yojana D. Loharu Utthan Yojana 

Q23. -1o19ल��- /े䜂 9O }�9O �@�/1? �?@0I 1:1 .I �:? �?-? :P? 

A. 0?�I= �??'I (A0 /K�(? B. �??'I /K�(? 

C. 9@?�?� /K�(? D. लKAz �m%?( /K�(? 
 

Q24. What is the minimum age to be the Governor of the state? 

A. 35 B. 40 

C. 42 D. 32 
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Q24. 1?जᱍ0 �? 1?जᱍ0+?ल -11O �O  9ल� �/ 9O �/ }�-1I �0I :K1I �?�:�? 

A. 35 B. 40 

C. 42 D. 32 

 

Q25. The literacy percentage in Haryana, as per 2011 census is: 

A. 85% B. 75.55% 

C. 74.45% D. 65.85% 

Q25. 2011 �I �1�,1? �O  
1I9?1 :910?,? /े䜂 9?�1-? ्䵚-->- :P : 

A. 85% B. 75.55% 

C. 74.45% D. 65.85% 

 

Q26. What is the national average of sex ratio, as per census 2011? 

A. 980 B. 950 

C. 840 D. 940 

Q26. �1�,1? 2011 �O  
1I9?1, 9ल@� 
1I+?- �? 1?�रI0 �9- }�-1? :P? 

A. 980 B. 950 

C. 840 D. 940 

 

Q27. Which region is famous for the production of automobiles in Haryana? 

A. Gurgaon-Daruhera B. Gurgaon-Manesar-Bawal 

C. Gurgaon-Rewari-Alwar D. Gurgaon-Manesar-Rewari 

Q27. �L1 9? �O्䵔, �?K/K-?�ल �O  �m+?/1 �O  9ल� ्䵚99p :P? 

A. �I]�??=-&?yAO0? B. �I]�??=-.?(O@0-??=ल 

C. �I]�??=-0O=?]I-
ल=0 D. �I]�??=-.?(O@0-0O=?]I 
 

Q28. Which two types of crops are grown in Haryana? 

A. Rabi and Zaid B. Kharif and Zaid 

C. Rabi and Kharif D. Zaid and Rice 
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Q28. :910?,? /े䜂 }�1 ्䵚�?1 �I ,9ले䜂 ��?� �?-I :ै䠂? 

A. 0?I �0 ज᰼?/& B. �0I, �0 ज᰼?/& 

C. 0?I �0 �0I, D. ज᰼?/& �0 '?( 

 

Q29. What is INRMPRP in Haryana? 

A. International Natural Reserve Management and 

Poverty Reduction Project 

B. Integrated Natural Reserve Management and 

Poverty Reduction Project 

C. International Natural Resource Management 

and Poverty Reduction Project 

D. Integrated Natural Resource Management and 

Poverty Reduction Project 

Q29. :910?,? /े䜂 ��.�1.�1.�/.+I.�1.+I. ]0? :P? 

A. �?�0(O>(ल (O�I0ल 90ज᰼=/ .P(O�.े䜂� ए?! +K=�I 90!कᕍ>( 

�K�Oकᕍ� 
B. �?�I्䵇O�O! (O�I0ल 90ज᰼=/ .P(O�.े䜂� ए?! +K=�I 90!कᕍ>( �K�Oकᕍ� 

C. �?�0(O>(ल (O�I0ल 90@K@/ .P(O�.े䜂� ए?! +K=�I 90!कᕍ>( 

�K�Oकᕍ� 
D. �?�I्䵇O�O! (O�I0ल 90@K@/ .P(O�.े䜂� ए?! +K=�I 90!कᕍ>( �K�Oकᕍ� 

 

Q30. Pick the odd one out: 

 
Truck, Lorry, Bus, Auto 

A. Truck B. Lorry 

C. Bus D. Auto 

Q30. 
9@�- �? �01 �1े䜂: 
 

र�, लI1I, -9, �?K 

A. र� B. लI0I 

C. ?@ D. ऑ�K 
 

Q31. Find the analogy. 
 

bcaD : Dacb :: HgmF : ? 

A. FmgE B. EgmF 

C. FmgH D. HgmF 
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Q31. 9/?1-? +ू@+े䜂। 
 

bcaD : Dacb :: HgmF : ? 

A. FmgE B. EgmF 

C. FmgH D. HgmF 

 

Q32. Find the missing number. 

 
7, 26, ?, 124, 215 

A. 78 B. 56 

C. 63 D. 115 

Q32. 
1I+�}.- 9@_0? _?- �1े䜂। 
 
7, 26, ?, 124, 215 

A. 78 B. 56 

C. 63 D. 115 

 

Q33. If RUMOUR is coded as SUNOVR. How will MILL be coded as? 

A. NIML B. LIML 

C. INLM D. INLL 

Q33. 0�/ �� �K* .?}? /े䜂 RUMOUR �K SUNOVR 9ल�? �?-? :P -K MILL �K ]0? 9ल�? �?��?? 

A. NIML B. LIML 

C. INLM D. INLL 

 

Q34. Find the value of X in the following equation: 

5X - 7 = 8 

A. 1 B. 3 

C. 2 D. 4 

Q34. -1o19ल��- 9/I�1, /े䜂 X �? /?1 -1�?ले䜂: 
5X - 7 = 8 

A. 1 B. 3 

C. 2 D. 4 
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Q35. Consider two events, X and Y, in an experiment. If P(X) = 0.7, P(Y) = 0.3 and P(X  Y) 

= 0.3 find P(Y|X) 

A. 2/7 B. 1/7 

C. 4/7 D. 3/7 

Q35. �� ्䵚0K� /े䜂 /K  ?1?�@, X �1 Y +1 +=�?1 �1े䜂। 0�/ If P(X) = 0.7, P(Y) = 0.3 �1 P(X  Y) = 0.3 :K 
-K P(Y|X) �? /?1 -1�?ले䜂। 

A. 2/7 B. 1/7 

C. 4/7 D. 3/7 

 

Q36. Express the following in percentage: 
240 as percent of 800 

A. 30% B. 20% 

C. 25% D. 15% 

Q36. -1o19ल��- �K ्䵚-->- /े䜂 }0]- �1े䜂: 
240 �K 800 �O  ्䵚-->- �O  z+ /े䜂 

A. 30% B. 20% 

C. 25% D. 15% 

 

Q37. Jaidev buys a laptop for Rs.45000. He earns a profit of 9% when he sells it. What is 
the selling price of the laptop? 

A. Rs.49050 B. Rs.57543 

C. Rs.64565 D. Rs.47890 

Q37. �0/O= 45000 y+0O /े䜂 �� लP+?I+ �1I/-? :P। �- =: �9O -O�-? :P -- �9O 9% �? ल?. :K-? :P। लP+?I+ �? +=ि0 

/ू्䵢0 }�-1? :P? 

A. 49050 y+/O B. 57543 y+/O 

C. 64565 y+/O D. 47890 y+/O 
 

Q38. Newton's _________ Law of Motion states that 'Every action has an equal and 
opposite reaction'. 

A. First B. Second 

C. Third D. Fourth 
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Q38. m0ू?1 �O  �-- 9o-m0I _________ -10/ /े䜂 �:? �0? :P }� '्䵚m0O� }ि0? +1 �� 9/?1 �1 +=+1I- ्䵚--}ि0? :K-I 
:P'। 

A. �%. B. द♍==$I/ 

C. $$ृI/ D. �$I%/ 
 

Q39. A substance that is present in lesser amount and is dissolved in another substance to 
form a solution is called as ______ . 

A. Solvent B. Reactant 

C. Solute D. Product 

Q39. �� +/?.) �K �/ /?्䵔? /े䜂 /L�ू/ :K-? :P �1 /9ू1O +/?.) /े䜂  Iल�1 ��  Kल �? -1/?), �1-? :P �9O _________ �:? 
�?-? :P। 

A. ==ल?/� B. 
9-�?0� 

C. ==लO/ D. �m+?& 
 

Q40. _________ provides mechanical support and shape to a plant cell. 

A. Nucleus B. Cytoplasm 

C. Cell wall D. Plastid 

Q40. _________ �� +?/+ �K9>�? �K 0?@}्䵔� 9/.)1 �1 ��?1 ्䵚/?1 �1-? :P। 

A. �O m्䵖� B. �K9>�? ्䵖}/ 

C. �K9>�? 9-}m$ D. oल?/�?�! 
 

Q41. ________ is the synonym of "DISTINCT". 

A. Unclear B. Distance 

C. Similar D. Clear 

 

Q42. ______ is the antonym of "AGGREGATED". 

A. Combined B. Cultivated 

C. Separated D. Gathered 
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Q43. Identify the meaning of the idiom.  

 
"Down to Earth." 

A. Being a farmer B. Being realistic and practical 

C. Always connected with one's roots D. Making complex things look simple 

 

Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"The television are on." 

A. Television is now switched on. B. Television are now on. 

C. The television is on. D. The television has on. 

 

Q45. Complete the sentence by choosing the correct form of the word given in brackets. 
 
The train ______(reach) the destination on time the other day. 

A. reached B. is reaching 

C. will reach D. could be reaching 

 

Q46. -1o1 >m/ �? +0?)0=?�I >m/ --?�0े䜂 | 

 

�=) 

A. �I>I B. �(?& 

C. 
?A D. �� 

 

Q47. 1O�?}�@ - >m/ �? +=+1I- (+=लK/) 
.) --?�0े䜂 | 

 


/?=}0? �O  �/1 �?/ॅ 
+1O +ू1O z+ +1 :K-? :P । 

A. 
??0 B. +}ू#/.? 

C. �ृ�#+ि D. >Iकᕍल+ि 
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Q48. 1I�O 9ल�O /I:?=1O �? �/�- 
.) --?�0O।  
 

�ू1 /I:? ल�1? 

A. 9>�?0 �0(? B. �K� �ल$ �&$ +] �?(? 

C. �ू( �0(? D. 0?ि@ AK �?(? 
 

Q49. 1I�O 9ल�O >m/ �? -:I=�1 -1?0े䜂| 

 

.?लI 

A. %PलI/?? B. %?लI/?? 

C. %?9ल/?? D. %?9लय� 
 

Q50. 1I�O 9ल�O >m/ �? -:I=�1 -1?0े䜂| 

 

-I�+0? 

A. ?I"I/?? B. ?�ू"/ो䬂 

C. ?I"I/ो䬂 D. ?I�"/?? 
 

Q51. Soil with liquidity index of less than 0 is classified as _______. 

A. Very soft B. Semi-Solid 

C. Liquid D. Stiff 

Q51. 0 9O �/ �I -1ल-? 9ू��?@� =?लI 9/्䴾I �K ___________ �O  z+ /े䜂 =�ी�ृ- }�0? �?-? :P। 

A. ?AI$ �K.ल B. 
्䵍/  K@ 

C. ्䵖= D. � K0 
 

Q52. Identify the type of pile that is used to protect water front structure from impact of 

any floating objects or ships. 

A. Batter B. Sheet 

C. Dolphins D. Anchor 
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Q52. +O1 �O  ्䵚�?1 �K +:�?1े䜂 ��9�? �+0K� }�9I -:-I =}-I 0? �:?� �O  ्䵚.?= 9O +?1I �O  9@+�)  /े䜂 �1O =?लO +?@�O �I 1�? �O  
9ल� }�0? �?-? :P। 

A. ?P�0 B. >I� 

C. !Iल�,( D. ल?�0 
 

Q53. Rebhann's method is also referred as _________. 

A. Poncelet construction B. Mohr-Mascheroni construction 

C. Rankine's theory D. Bell's equation 

Q53. 1O.1 �I +=/0 �K ________ .I �:? �?-? :P। 

A. +ो䬂@लO� )(.?/# B. .KA0-.>O0K(I )(.?/# 

C. 0ै䠂��( �? 9@्䵍??$ D. ?Oल �? @.I�0# 

 

Q54. The greek symbol  (tau) is used to denote ___________. 

A. Normal stress B. Shear stress 

C. Bearing stress D. Tensile stress 

Q54. 0ू1?1I ्䵚-I�  (-?�) �? �+0K� _______ �K />?)1O �O  9ल� }�0? �?-? :P। 

A. @?.?m/ $(?= B. 
+z+# $(?= 

C. =A( $(?= D. $m/$? $(?= 
 

Q55. Which of the following hardness test method measures the permanent depth of 
indentation produced by a force/load on an indenter? 

A. Rockwell B. Brinell 

C. Vickers D. Knoop 

Q55. -1o1 /े䜂 9O �L1 9I �)K1-? +1I�, +=/0 �� �@*े䜂?1 +1 -ल/-K� द♍=?1? �m+m1 �@*े䜂?O>1 �I }.?0I �:1?� �K /?+-I :P? 

A. 0I�=Oल B. -}(Oल 

C. ==�@/ D. (+ू 
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Q56. The property which enables metals to be drawn into wire is known as _________. 

A. Lustrous B. Sonorous 

C. Malleability D. Ductility 

Q56. 0?-I�@ �O  ��9 �I, �O  �?1, �m:े䜂 �I@��1 -?1 -1?0? �? 9�-? :P; �9 �I, �K _______ �O  1?/ 9O �?1? �?-? :P। 

A. �.�Iल? B. 
(I(?&+#ू/ 

C. � ?$='/(I/$? D. ल�Iल?+( 

 

Q57. One gigaelectron-volt is equal to ________ electron-volts. 

A. 106 B. 103 

C. 109 D. 1012 

Q57. �� �I�?�लO]रI1-=K्䵢? ___________ �लO]रI1-=K्䵢? �O  -1?-1 :K-? :P। 

A. 106 B. 103 

C. 109 D. 1012 

 

Q58. What is the value of absolute electrical permittivity of free space? 

A. 10 x 109 Nm2C-2 B. 8.85 x 10-12C2N-1m-2 

C. 8.854 x 10-12 farad/meter D. 10 x 10-12 C2N-1m-2 

Q58. /I]- }.?1 �I +1/ +=द♍0I- 
1I/-- �? /?1 }�-1? :K-? :P? 

A. 10 x 109 Nm2C-2 B. 8.85 x 10-12C2N-1m-2 

C. 8.854 x 10-12 ,P 0?!/.I�0 D. 10 x 10-12 C2N-1m-2 

 

Q59. What is the SI unit of conductivity? 

A. ohm B. mho 

C. mho/m2 D. mhom-1 

Q59. �?ल�-? �I �9.��. ��?� ]0? :P? 

A. ohm B. mho 

C. mho/m2 D. mhom-1 
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Q60. Identify the circuit that adds multiple analog voltage signals together. 

A. Summer B. Averager 

C. Differentiator D. Integrator 

Q60. �9 9}�) ? �I +:�?1 �1े䜂 �K �� 9?. �� �1?लI� =K्䵢?O� 99_1लो䬂 �K �K)-? :P। 

A. @.0 B. ए=0O�0 

C. )!,0े䜂9>ए�0 D. �?�I्䵇O�0 
 

Q61. A __________ is a circuit that fixes either the positive or the negative peak excursions 
of a signal to a defined value by shifting its DC value. 

A. DC-to-DC convertor B. Differentiator 

C. Integrator D. Clamper 

Q61. �� ___________, �� �9? 9}�) ? :P �K *I.9I. /?1 �K }.?1?@-91- �1�O  �� +91.?+}- /?1 -� �� 99_1ल �O  
+I���?= 0? -1�O�?= +I� }/, �K )I� �1-? :P। 

A. !I.@I.-�ू-!I.@I. �(=�/0 B. )!,0े䜂9>ए�0 

C. �?�I्䵇O�0 D. कᕍलPम⹍+0 
 

Q62. The split ring arrangement is used in _________. 

A. D.C. generator B. A.C. generator 

C. Transformer D. Choke coil 

Q62. +=.?��- 91@� }0=}.? �? �+0K� ___________ /े䜂 }�0? �?-? :P। 

A. !I.@I. �(0O�0 B. ए.@I. �(0O�0 

C. र??@,?./0 D. �K� �I�ल 

 

Q63. Which of the following port is used to transfer large amount of data at very fast 
speed? 

A. Firewire B. VGA 

C. PS/2 D. USB 
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Q63. -:I- -O� �-- 9O -)I /?्䵔? /े䜂 *O?? �K }.?1?@-91- �11O �O  9ल� -1o19ल��- /े䜂 9O }�9 +K?) �? �+0K� }�0? �?-? :P? 

A. ,?/0=?/0 B. =I.�I.ए. 

C. +I.ए@./2 D. /ू.ए@.?I. 
 

Q64. Bluetooth is an example of __________. 

A. Local Area Network B. Wide Area Network 

C. Personal Area Network D. Virtual Private Network 

Q64. mलू?ू. _________ �? �� �/?:1, :P। 

A. लK�ल ए90/? (O�=�/  B. =?�! ए90/? (O�=�/  

C. +@/(ल ए90/? (O�=�/  D. =�I/
ल �?�=O� (O�=�/  
 

Q65. In C programming, what is #include in the declaration, #include? 

A. Assignment operator B. Library function 

C. Header file D. Preprocessor directive 

Q65. 9I (C) ्䵚K्䵇?9/@� /े䜂,  K},? #include /े䜂 #include ]0? :P? 

A. 
@?�(.े䜂� ऑ+0O�0 B. ल?�}O0I फ? कᕍ>( 

C. AO!0 ,?�ल D. �I�K@O@0 !?/0O}कᕍ�= 

 

Q66. Which of the following logical operator in SQL is used to combine multiple conditions 
in an SQL statement's WHERE clause? 

A. OR B. ANY 

C. LIKE D. EXISTS 

Q66. �9.]0ू.�ल.(SQL) /े䜂 -1o1 /े䜂 9O }�9 लI���ल �+1O?1 �? �+0K�, �9.]0ू.�ल.(SQL) }?O?/े䜂? �O  WHERE ]लI� 

/े䜂 ��?/0� >-ो䬂 �K 9@0K��- �11O �O  9ल� }�0? �?-? :P? 

A. OR B. ANY 

C. LIKE D. EXISTS 
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Q67. Which curve represents the relationship between the price of a product and quantity 

demanded for a specific period of time? 

A. Demand curve B. Product curve 

C. Service curve D. Goods curve 

Q67. �L1 9? =ि �� �m+?/ �I �I/- �1 �� +=9>�? 
=/0 �O  9ल� /?@� �I �� /?्䵔? �O  -I� �O  9@-@0 �K ्䵚/9>)- �1-? :P? 

A. .??� =्䵅 B. �m+?& =्䵅 

C. @O=? =्䵅 D. =/$I =्䵅 

 

Q68. In which type of market, a businessman sells a unique product in the market without 
facing any threats from his competitors? 

A. Oligopoly B. Dipody 

C. Monopoly D. Multipoly 

Q68. }�9 ्䵚�?1 �O  -?�?1 /े䜂, �� }0=9?0I 
+1O ्䵚--}+/0)0ो䬂 9O }�9I .I �-1O �? 9?/1? }�� }-1? -?�?1 /े䜂 �� 
1ू)? 
�m+?/ -O�-? :P? 

A. 
ल㉍+?/'�?0 B. !?�+K!I 

C. ए�?/'�?0 D. ?AI
/'�?0 
 

Q69. Producer surplus + _________ surplus = Total economic surplus in an individual 

market. 

A. Manufacturer B. Consumer 

C. Monetary D. Demand 

Q69. -1/?)-? 
/0>O} + ____________ 
/0>O} = �� }0�]-�- -?�?1 /े䜂 �I ल �/.)� 
/0>O} 

A. )(.?/$? B. �+-Kकᕍ$? 

C. .L�्䵖� D. .??� 
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Q70. What will be the term in the empty box on the 'Y' axis of this graph?  

 

 

A. Period B. Price 

C. Competitors D. Revenue 

Q70. �9 ्䵇?, �O  'Y' 
� +1 �?लI -I]9 /े䜂 �L1 9? >m/ :K�??  

 

 

A. 
=/' B. .लू㉍/ 

C. �)$/K�I D. 0?�/= 
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Q71. The increase in the cost of living due to rise in the price of goods and services is called 

______. 

A. Deflation B. Inflation 

C. Devaluation D. Depreciation 

Q71. =}-I�@ �1 9O=?�@ �I �I/- /े䜂 =+ृp �O  �?1, 1:1-9:1 �I ल?�- /े䜂 :K1O =?लI =+ृp �K __________ �:? �?-? :P। 

A. 
+/,I)$ B. .I्䵖?/,I)$ 

C. 
=.लू㉍/( D. .लू㉍/्䵩?@ 

 

Q72. Goods and services that are used by the consumers directly are called ______. 

A. Consumption goods B. Capital goods 

C. Principal goods D. Necessary goods 

Q72. 9I0O �+.K]-?�@ द♍=?1? �+0K� �I �?1O =?लI =}-I�@ �1 9O=?�@ �K __________ �:? �?-? :P। 

A. �+-K� =/$Iए? B. +ू?�I�$ =/$Iए? 

C. �'?( =/$Iए? D. �=�/� =/$Iए? 
 

Q73. Which term signifies a substantial reduction in the economic activity of a country, such 
as employment and trade, lasting for some months? 

A. Recession B. Declination 

C. Depreciation D. Resurgence 

Q73. �L1 9? >m/ �� /O> �I �/.)� �--+=/0 /े䜂 +0?)o- �/I �? ्䵚-I� :P, �P9O }� 1K��?1 �1 }0?+?1, �I � /:I1ो䬂 -� 

�ल1?? 

A. .?&I B. 
=()$ 

C. .लू㉍/्䵩?@ D. +I(ym%?( 
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Q74. In the given business cycle graph, what does the uphill of the graph indicates? 

 

 

A. Expanding Employment opportunity B. Shrinking business opportunity 

C. Depreciation of long-term assets D. Period in which an asset is expected to be used 

Q74. �/� �� }0?=9?-0� �ि ्䵇?, /े䜂, ्䵇?फ⬼ �O  
+�:ल ]0? />?)-? :P? 

 

 

A. 0K��?0 �O  
=@0 �? ==/$?0 B. 9@�I ](O �? }/=@?)/� 
=@0 

C. &I /�?9ल� +90@?+}m$/ो䬂 �? .लू㉍/्䵩?@ D. }�@ 
=/' .े䜂 ए� +90@?+}m$ �? �+/K� AK(O �I �म⹍.I& AP 
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Q75. _______ is an electronic fund transfer system that operates on a Deferred Net 

Settlement (DNS) basis which settles transactions in batches. 

A. RTGS B. TT 

C. IMPS D. NEFT 

Q75. ______ �� �लO]रI-1� ,@ * र?@9,1 99}?/ :P �K �� )*फ⬼*) 1O? 9O?ल/े䜂? (*I.�1.�9.) �0?1 +1 9@�?9ल- :K-? :P �K 
-P�ो䬂 /े䜂 लO1/O1 �? -1+??1 �1-? :P। 

A. �0.�I.�I.ए@. B. �I.�I. 

C. ��.ए..+I.ए@. D. ए(.�.ए,.�I. 
 

Q76. What is the minimum amount that can be remitted through RTGS? 

A. Rs. 1.00 Lakh B. Rs. 5.00 Lakhs 

C. Rs. 2.00 Lakhs D. Rs. 0.50 Lakhs 

Q76. �1.?I.�I.�9. �O  /?o0/ 9O �/ 9O �/ }�-1I 1?9> .O�I �? 9�-I :P? 

A. 1.00 ल?� y+/O B. 5.00 ल?� y+/O 

C. 2.00 ल?� y+/O D. 0.50 ल?� y+/O 
 

Q77. India's Foreign exchange reserves have touched an all-time high of _______ billion on 
2nd June 2017. 

A. 321.256 B. 275.327 

C. 381.167 D. 301.586 

Q77. 2 �ू1 2017 �K .?1- �O  +=/O>I /I्䵖? .@*?1 1O ______ }-9ल01 �O  
- -� �O  9-9O �@ �O }-1 �K }+>) }�0? :P। 

A. 321.256 B. 275.327 

C. 381.167 D. 301.586 

 

Q78. Balance of payments means: 

A. The balance of receipts and payments of all 

banks 

B. The balance of government receipts and 

payments 

C. The balance of receipts and payments of State 

Bank 

 

 

 

D. Payments of foreign exchange by a country 
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Q78. .I�-?1 �? >O} �? /-ल- :P: 

A. @-I ?ै䠂�ो䬂 �I �?}o$/ो䬂 �0 -I�$?(ो䬂 �? >O? B. @0�?0 �I �?}o$/ो䬂 �0 -I�$?(ो䬂 �? >O? 

C. /�O� ?ै䠂� �I �?}o$/ो䬂 �0 -I�$?(ो䬂 �? >O? D. ��@I &O> द♍=?0? ==&O>I .I्䵖? �? -I�$?( 

 

Q79. Lorenz Curve shows ________. 

A. Economic growth B. Income inequalities 

C. Production possibility D. Literacy Rate 

Q79. लK1े䜂ज᰼ =ि 9O ___________ �? +-? �ल-? :P। 

A. �/%/� ==�?@ B. �/ 
@.?($? 

C. �m+?&( @?-?=(? D. @?ि0$? &0 
 

Q80. OECD is the short form of ________. 

A. Organisation for Economic Co-operation and 

Development 

B. Organisation for Economic Cooperative 

Development 

C. Organisation for Economic Cooperative 

Developers 

D. Organisation for Economic Countries 

Development 

Q80. �.�.9I.*I. _______ �? 9@्䵌�o- z+ :P। 

A. �/%/� @A/K� ए=? ==�?@ @?� ( B. �/%/� @A�?0I ==�?@ @?� ( 

C. �/%/� @A�?0I ==�?@� @?� ( D. �/%/� &O> ==�?@ @?� ( 

 

Q81. What is brain drain? 

A. The immigration of highly skilled people from 

developing countries. 

B. The immigration of highly skilled people from 

developed countries. 

C. The immigration of labour force from 

developing countries. 

D. The immigration of rich people from developed 

countries. 

Q81. ?O1 ्䵑O1 ]0? :P? 

A. ==�?@>Iल &O>ो䬂 @O 
m//'� �I >ल लK�ो䬂 �? +0&O> .े䜂 
�?�0 ?@(?। 

B. ==�9@$ &O>ो䬂 @O 
m//'� �I >ल लK�ो䬂 �? +0&O> .े䜂 �?�0 
?@(?। 

C. ==�?@>Iल &O>ो䬂 @O .�&0ूो䬂 �? +0&O> .े䜂 �?�0 ?@(?। D. ==�9@$ &O>ो䬂 @O 
.I0 लK�ो䬂 �? +0&O> .े䜂 �?�0 ?@(?। 
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Q82. Which of the following is not a subdivision that forms the subject matter of public 

finance? 

A. Federal finance B. Financial administration 

C. Public debt D. Foreign trade policy 

Q82. -1o1 /े䜂 9O �L1, 9?=)�-1� +=m- �I +=}0 =}-I �? -1/?), �11O =?ल? �+-+=.?�1 1:I@ :P? 

A. @? I/ ==m$ B. ==m$I/ �>?@( 

C. @?=/�)(� �# D. ==&O>I }/?+?0 (I)$ 

 

Q83. Which of the following is NOT considered to be an objective of public finance? 

A. Efficient resource allocation B. Income distribution 

C. Macroeconomic stabilization D. Enforcing employment standards 

Q83. -1o19ल��- /े䜂 9O }�9O 9?=)�-1� +=m- �? �� �oO�0 1:I@ /?1? �?-? :P? 

A. �I >ल @?@?'( �=?�( B. �/ ==$0# 

C. }/?+� �/%/� }/%0I�0# D. 0K��?0 .?(�ो䬂 �K ल?�ू �0(? 
 

Q84. What do you mean by Government investment? 

A. Government purchases of goods and services 

for current use. 

B. Government expenditures that are not 

purchases of goods and services, and instead just 

represent transfers of money. 

C. Government purchases of goods and services 

intended to create future benefits. 

D. Government expenditures where income is 

transferred to people that have suffered a loss 

due to natural disaster. 

Q84. 91�?1I -1=O> 9O �+ ]0? 9/�-O :ै䠂? 

A. =$/.?( �+/K� �O  9लए =/$I�? �0 @O=?�? �I @0�?0I 
�0I&?0I। 

B. @0�?0I }// �K =/$I�? �0 @O=?�? �I �0I&?0I �O  9लए 

(AI? ?}ल㉍� 9@,/  '( �O  A/$??$0# �O  9लए ��ए �?$O Aै䠂। 

C. -==�/ .े䜂 ल?- �.?(O �O  �0?&O @O =/$I�? �0 @O=?�? �I 
@0�?0I �0I&?0I। 

D. @0�?0I }// �A?? �/ �K लK�ो䬂 �K A/$??$90$ �0 �&/? 
�?$? AP }�mAे䜂 �?�ृ)$� �+&? �O  �?0# (I�@?( AI� AP। 

 

Q85. ________ is regarded as the father of Operation Flood. 

A. Raghuram Rajan B. Verghese Kurien 

C. Kaushik Basu D. Bimal Jalan 
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Q85. _______ �K �+1O>1 oल* �? �1� /?1? �?-? :P। 

A. 0 I0?. 0?�( B. =�I� �I 90/( 

C. �L9>� ?@I D. -?.ल �?ल?( 

 

Q86. _____ is not replaced by Goods and Services Tax. 

A. Sales Tax B. Customs Duty 

C. VAT D. Property Tax 

Q86. ________ �K /?ल �1 9O=? �1 द♍=?1? ्䵚--}.?++- 1:I@ }�0? �?-? :P। 

A. -?्䵅I �0 B. @I.? >Iल㉍� 

C. =P� (VAT) D. @?+}m$ �0 
 

Q87. _____ industry in India has maximum number of women workers. 

A. Steel B. Textile 

C. Tea D. Rubber 

Q87. .?1- /े䜂 __________ �द♍0K� /े䜂 
/0�-/ 9@_0? /े䜂 /�:ल? ्䵦9/� :ै䠂। 

A. /�Iल B. =/्䵔 

C. �?/ D. 0?0 
 

Q88. What is the full form of NITI Aayog? 

A. National Institution for Transforming India B. National Initiative for Technological India 

C. National Institute for Transform India D. National Initiative for Technical training in India 

Q88. 'NITI' (1I--) �0K� �? +ू1? z+ ]0? :P? 

A. 0?�रI/ -?0$ +90=$/( @?/%? B. 0?�रI/ -?0$ $�(I�I �O  9लए +Aल 

C. 0?�रI/ -?0$ र??@फI./ @?/%?( D. 0?�रI/ -?0$ $�(I�I �9>ि# �O  9लए +Aल 

 

Q89. Which sector is the largest source of employment in India? 

A. Agriculture B. Textile 

C. Services D. Tourism 
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Q89. �L1 9? �O्䵔, .?1- /े䜂 1K��?1 �? 9-9O -)? ्䵨K- :P? 

A. �ृ=? B. =/्䵔 

C. @O=? D. +//�( 

 

Q90. ________ is the largest source of employment of expat Indians. 

A. Middle East B. USA 

C. UK D. Malaysia 

Q90. ______ ्䵚=?9I .?1-I0ो䬂 �O  1K��?1 �? 9-9O -)? ्䵨K- :P। 

A. .o/ +=ू/ B. /ू.ए@.ए 

C. /ू.�O  D. .लO9>/? 
 

Q91. What is M-SIPS announced by Union Government of India? 

A. Modified Special Insurance Planning Scheme B. Modified Special Incentive Package Scheme 

C. Modified Systematic Investment Planning 

Scheme 

D. Modified Systematic Insurance Package 

Scheme 

Q91. .?1- 91�?1 द♍=?1? �/.-�9.��.+I.�9. �I  K},? ]0? :P? 

A. @?>K/'$ ==>O? ?I.? /K�(? /K�(? B. @?>K/'$ ==>O? �Km@?A( +P�O � /K�(? 

C. @?>K/'$ �#?लI?्䵍 )(=O> /K�(? D. @?>K/'$ }/=}/%$ ?I.? +P�O � /K�(? 
 

Q92. Chandha Kochar, the 4th in Fortune's 50 Most powerful Women in the World-2013 is 
the MD and CEO of ________. 

A. Tractors and Farm Equipment Limited B. ICICI Bank 

C. Life Insurance Corporation of India D. Capgemini 

Q92. ,I्䵊0ू)1 �I +=�= �I 50 9-9O >�]->?लI /�:ल?�@ �I 2013 �I 9ू�I /े䜂 �L.? }.?1 ्䵚?o- �11O =?लI �@/? �K�1, 
_______ �I �/.*I. �1 9I.�.�. :ै䠂। 

A. रPकᕍ�@/ ए?! ,?./ �}कᕍ=+.े䜂� 9ल9.�O! B. ��.@I.��.@I.��. ?ै䠂� 

C. -?0$I/ �I=( ?I.? )(�. D. �P +�O9.(I 
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Q93. On which company did Insurance regulator IRDA impose Rs.40 lakh penalty for 

violation of various guidelines related to advertisement, outsourcing and other norms in the 
year 2016? 

A. Life Insurance Corporation of India B. Bajaj Allianz General Insurance 

C. Royal Sundaram General Insurance Co. Limited D. HDFC ERGO General Insurance Company 

Q93. =}) 2016 /े䜂 +=_?+1, ��?9K99ि㼂� �1 
m0 -10/ो䬂 9O 9@-@/0- +=9.m1 �/>?-1/े>ो䬂 �O  �्䵢ल@ 1 �O  9ल� -I/? -10?/� 

��.�1.*I.�. 1O }�9 �@ +1I +1 40 ल?� �? �I/?)1? ल�?0? .?? 

A. -?0$I/ �I=( ?I.? )(�. B. ?�?� ए9ल/??� �(0ल �?�/K0े䜂@ 

C. 0I/ल @I?&0. �(0ल �?�/K0े䜂@ �? +(I 9ल9.�O! D. ए�.!I.ए,.@I. �.�0.�I.�. �(0ल �?�/K0े䜂@ �? +(I 
 

Q94. Aim of the New India Manthan programme is to _________. 

A. Double the farmer's income by 2022 B. Ensure availability of 24-hour three phase 

quality power supply to farmers 

C. Provide highly subsidised food to millions of the 

poorest families 

D. Establish infrastructure that could ensure 

adequate robust sewage networks and water 

supply for urban transformation 

Q94. m0ू �@)*0? /@.1 �?0)ि/ �? �oO�0 _____________ :P। 

A. 2022 $� ��@?( �I �/ �K &K�I(? �0(? B. ��@?(ो䬂 �K 24  ?�O $I( ,O � =?लI 
चᩍ�I कᕍ=?9ल�I �I +?=0 
@oल?� �I �+लबⱍ'$? �K @I)(}��$ �0(? 

C. ल?�ो䬂 �0I? +90=?0ो䬂 �K 
m//'� @}बⱍ@!I =?ल? -K�( �&?( 

�0(? 
D. ?I)(/?&I "??�O �I /%?+(? �0(? �K >A0I z+??$0# �O  9लए 

+/?/o$ .�?$ू .ल�ल (O�=�/  �0 +?(I �I �+)ू$/ �K 
@I)(}��$ �0 @�O  

 

Q95. Who is the current Minister of Commerce and Industry? 

A. Anand Sharma B. Anupriya Patel 

C. Piyush Goyal D. Suresh Prabhu 

Q95. =-)/?1 =?�,जᱍ0 �=@ �द♍0K� /@्䵔I �L1 :ै䠂? 

A. �(?& >.?/ B. 
(I=�/? +�Oल 

C. +I/?ू �K/ल D. @I0O> �-I 
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Q96. Which one of the following governs International trade? 

A. World Custom Organization B. International Trade Centre 

C. International Monetary Fund D. World Trade Organization 

Q96. -1o19ल��- /े䜂 9O �L1, 
@-1?)�रI0 }0?+?1 �K -10@}्䵔- �1-? :P? 

A. ==�= �/�. @?� ( B. 
?$0?/�रI/ }/?+?0 �े䜂 ्䵖 

C. 
?$0?/�रI/ .I्䵖? �K? D. ==�= }/?+?0 @?� ( 

 

Q97. India is the second largest in ___________ after China. 

A. Fish production B. Tea export 

C. Shrimp export D. Gold import 

Q97. .?1- ________ /े䜂 �I1 �O  -?/ /9ू1? 9-9O -)? /O> :P। 

A. .�लI �? �m+?&( B. �?/ �? )(/?/$ 

C. �I?�? �? )(/?/$ D. @K(O �? �/?$ 

 

Q98. Which one of these are sources of revenue for State Government? 

A. Custom duties B. Foreign currency exchange 

C. Service tax D. Land revenue 

Q98. �1/े䜂 9O �L1, 1?जᱍ0 91�?1 �O  1?�}= �? ्䵨K- :K-? :P? 

A. @I.? >Iल㉍� B. ==&O>I .I्䵖? ==)(./ 

C. @O=? �0 D. -ू 0?�/= 
 

Q99. Which one of these banks does not fall under the category of money market? 

A. Reserve Bank of India B. State Bank of India 

C. Security Exchange Board of India D. Corporation Bank 

Q99. �1/े䜂 9O �L1 9? -ै䠂�, /I्䵖? -?�?1 �I ्䵦O,I /े䜂 1:I@ �-? :P? 

A. -?0$I/ 90�=/ ?ै䠂� B. -?0$I/ /�O� ?ै䠂� 

C. 9@कᕍ/K90�I एकᕍ@�े䜂� ?K!/ ऑ, �?)!/? D. �I+ो0O>( ?ै䠂� 
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Q100. When there is a fall in the currency value of a country in comparison with currencies 

of other countries, the currency is said to be _________. 

A. Demonetized B. Devalued 

C. Depreciated D. Deducted 

Q100. �- 
m0 /O>ो䬂 �I /I्䵖?�@ �I -Iल1? /े䜂 }�9I /O> �O  /I्䵖? /्ू䵢0 /े䜂 /�1?=? :K-I :P, -K �9 /I्䵖? �K ________ �:? 
�?-? :P। 

A. ==.I्䵖I�0# B. 
=.लू㉍/( 

C. .लू㉍/्䵩?@ D. ��L$I 
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Q1. Megasthenes, the ambassador of Seleucus Nicator of Syria, visited the court of 

________. 

A. Chandragupta Maurya B. Samrat Ashoka 

C. Samudragupta D. Harshavardhana 

Q1. AI9?0? �O  AOल㉍0ू�A )?�O �? �? ??�&$ू, /O�?}%?IA, _______ �O  &?-?? /े䜂 �0? %?। 

A. �
्䵖�Io$ /L}/ B. 9्䵞?� 
>K� 

C. 9/I्䵖�Io$ D. :}/=}/) 

 

Q2. Roger Federer, the Wimbledon men's champion 2017, is from ________. 

A. United States of America B. Switzerland 

C. Spain D. England 

Q2. = ?-;!? +Iy@ �ै䠂=+0? 2017 �O  = �O$? ?K�? ,O !?? _________ �O  ?B?O  ?;O Bै䠂। 

A. 9
}Iकᕍ$ 9?जᱍ} 
/O99�? B. }==टὍ�9;ै䠂! 

C. =+O) D. �
�;ै䠂! 
 

Q3. The ancient pyramids are found in ________. 

A. Turkey B. Egypt 

C. Iran D. Saudi Arabia 

Q3. ्䵚?�I? =+??//! ________ /े䜂 +?� �?$O Bै䠂। 

A. ��I B. //} 

C. �9?) D. 9�&I 
9- 

 

Q4. The maximum age for Indian citizens for accident insurance cover under Pradhan 
Mantri Suraksha Bima Yojana is _____. 

A. 55 B. 60 

C. 70 D. 65 

Q4. ्䵚'?? /?्䵔I AI?�? -I/? 0K�?? �O  
?$��$ &Iरき��?? -I/? AI?�? �O  /;� .??$I0 ??�9?�ो䬂 �I 
/'�$/ �0I AI/? ______ 

 @� BP। 

A. 55 B. 60 

C. 70 D. 65 
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Q5. King Harshvardhana adopted Kannauj as his capital although _______ was the 

established capital. 

A. Taraori B. Hisar 

C. Kurukshetra D. Thanesar 

Q5. ??�? B@� '�? ?O 
+?I ??�'??I �O  z+ /े䜂 �m?L� �K 
+??0? �-�� _______ }%?=+$ ??�'??I %I। 

A. $?9?=9I B. 9:9?9 

C. �I y्䵌O्䵔 D. %?)O99 
 

Q6. Who won the Second Battle of Tarain? 

A. Mohammed Ghori B. Govind Tai 

C. Prithviraj Chauhan D. Jayachandra 

Q6. $??ࠂई �I &Aू?I ;)?� ��A?O �I$I? 

A. /K:o/& ग़K9I B. �K==
& $?� 

C. +mृ=I9?� �L:?) D. �}�
्䵖 
 

Q7. _____ states were carved out of Punjab on linguistic basis. 

A. Rajasthan and Haryana B. Haryana and Himachal Pradesh 

C. Himachal Pradesh, Haryana and Rajasthan D. Delhi and Haryana 

Q7. .?@? �O  �'?? +? +?�?- /े䜂 AO _____ ??जᱍ0ो䬂 �? )?/?�# ��0? �0? %?। 

A. 9?�=%?) �9 :99}?#? B. :99}?#? �9 9:/?�; ्䵚&O> 

C. 9:/?�; ्䵚&O>, :99}?#? �9 9?�=%?) D. 9&ल㉍;I �9 :99}?#? 
 

Q8. The remains of which civilization were found in Rakhigarhi of Hisar district? 

A. Indus Valley Civilization B. Mongolian Civilizaton 

C. Vedic Civilization D. Stone Age 

Q8. 9BA?? ��;O �O  ??�I�*I /े䜂 ��A Am0$? �O  
 ?O@ +?� �� %O? 

A. /9
}I  ?�I �I 9m}$? B. /
�K/;}) 9m}$? 

C. =P9&� 9m}$? D. +?}?# }I� 
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Q9. What will be the new name of Ganda village of Haryana? 

A. Ajit Nagar B. Gurugram 

C. Charkhi Dadri D. Gaibi Nagar 

Q9. B9?0?#? �O  �??&? �??  �? ?0? ??/ ]0? BK�?? 

A. 
}�$ )�9 B. �Iy्䵇?/ 

C. �9�I &?&9I D. �P-I )�9 
 

Q10. How many Air Force stations are there in Haryana? 

A. One B. Two 

C. Three D. Five 

Q10. B9?0?#? /े䜂 ��$?O  ?0I AO?? }�O?? Bै䠂? 

A. ए� B. &K 

C. $I) D. +?
� 

 

Q11. The Haryana government provides free education to women up to ______ level. 

A. Tenth Standard B. Senior Secondary 

C. Secondary D. The Bachelor's Degree 

Q11. B9?0?#? A?�?? _______ }$? $� /9B;?�? �K /Io$ /?�? ्䵚&?? �?$I BP। 

A. &9=?
 /?)� B. �चᩍ� /?o}//� 

C. /?o}//� D. -P�;9 �I )!्䵇I 
 

Q12. Haryana government plans to run electric buses in __________ on the pattern of 

Poland. 

A. Faridabad B. Gurgaon 

C. Karnal D. Panipat 

Q12. B9?0?#? A?�?? +K;ै䠂! �O  +P�?� +? __________ /े䜂 �;O�]ि� -A �;??O �I 0K�?? -?? ?BI BP। 

A. ,9I&?-?& B. �I=�?
= 

C. �9)?; D. +?)I+$ 
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Q13. Mustafabad has been renamed as ________. 

A. Ajit Nagar B. Saraswati Nagar 

C. Mustafa Nagar D. Charkhi Dadri 

Q13. /I}$,?-?& �? ?0? ??/ ____________ ?�? �0? BP। 

A. 
}�$ )�9 B. 99==$I )�9 

C. /I=$,? )�9 D. �9�I &?&9I 
 

Q14. Which scheme has been launched for unemployed youth of Haryana? 

A. Yuva Hamara Rozgar Hamara B. Employment for Young 

C. Saksham Yuva Scheme D. Rozgar Seva Scheme 

Q14. B9?0?#? �O  -O?K��?? ?L� ??ो䬂 �O  /;� �L? AI 0K�?? ?Iz �I �� BP? 

A. }I=? :/?9? 9Kज᰼�?9 :/?9? B. एoo;I}/े䜂� ,I9 }
� 

C. 9्䵌/ }I=? }K�)? D. 9Kज᰼�?9 9O=? }K�)? 
 

Q15. Rajaram Shastri wrote _________ novel in Haryanvi language. 

A. Nav-Ratan B. Jhadufiri 

C. Haryana-Ka-Itihas D. Tuta Hua Aadmi 

Q15. ??�???/ ??}्䵔I ?O B9?0?# I .?@? /े䜂 _________ �+m0?A /;�? %?। 

A. )=-9$) B. �?!ू+,9I 

C. :99}?#? �? �-$:?9 D. �I�? :I� �&/I 
 

Q16. In the _________ folk dance-theatre form, mimicry is an integral part. 

A. Ghumar B. Saang (Swang) 

C. Loor D. Ratvai 

Q16. _________ ;K� ?mृ0-??टὍ0 z+ /े䜂, 
?I�?? �� 
/.m? 
?� BP। 

A.  I/9 B. 9?
� (==?
�) 

C. ;9ू D. 9$=� 
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Q17. Who among the following was the most famous Hindi humour poet from Haryana? 

A. Baje Bhagat B. Daya Chand Mayna 

C. Gajendra Verma D. Alhar Bikaneri 

Q17. )?o?/;��$ /े䜂 AO �L?, B9?0?#? �O  A-AO ्䵚/A्䵍 9B?&I B?}0 �=  %O? 

A. -?�O .�$ B. &}?�
& /})? 

C. ��Oo्䵖 =/?/ D. 
ल㉍:9 -I�?)O9I 
 

Q18. Ghulam Farid Sabri was a major _________ singer. 

A. Bhajan B. Qawwali 

C. Sufi Songs D. Ghazal 

Q18. �I;?/ ,?I& A-?I �� ्䵚/I� _________ �?0� %O। 

A. .�) B. �}=?;I 

C. 9,ूI �?)O D. ग़ज᰼; 

 

Q19. The climate of Haryana is _______. 

A. Dry B. Tropical 

C. Mild D. Continental 

Q19. B9?0?#? �I �; ?0I __________ BP। 

A. >I�� B. ��#�9�-
}I} 

C. 9Lo} D. /:?द♍=I+I} 

 

Q20. Which part of Haryana receives minimum rainfall? 

A. North Eastern B. South Eastern 

C. North Western D. South Western 

Q20. B9?0?#? �O  ��A 9B}AO /े䜂 A-AO �/ -?9?? BK$I BP? 

A. �m$9 +=ूी B. &्䵌्䵌# +=ूी 

C. �m$9 +}��/I D. &्䵌्䵌# +}��/I 
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Q21. Which amongst the following is called as "Heart of Haryana"? 

A. Chandigarh B. Ambala 

C. Gurgaon D. Jind 

Q21. )?o?/;��$ /े䜂 AO ��AO "B9?0?#? �? 9&;" �B? �?$? BP? 

A. �
!I�? B. 
o-?;? 

C. �I=�?
= D. �I
& 
 

Q22. Where is Bhindawas wildlife sanctuary situated in Haryana? 

A. Faridabad district B. Panipat district 

C. Jhajjar district D. Karnal district 

Q22. /.?! ?A  m0 �I ? 
.0??o0 B9?0?#? /े䜂 �B?? �}%$ BP? 

A. ,9I&?-?& }�;? B. +?)I+$ }�;? 

C. �जᱍ�9 }�;? D. �9)?; }�;? 
 

Q23. Central Institute for Research on buffaloes is situated in _________ district of 
Haryana. 

A. Faridabad B. Panipat 

C. Sirsa D. Hisar 

Q23. .ै䠂Aो䬂 +? 
?IA?'?? �O  /;� �े䜂 ्䵖I0 A?}%?? B9?0?#? �O  _________ ��;O /े䜂 �}%$ BP। 

A. ,9I&?-?& B. +?)I+$ 

C. /999? D. 9:9?9 
 

Q24. The elections for Lok Sabha are held every _____. 

A. 5 years B. 3 years 

C. 7 years D. 2 years 

Q24. ;K�A.? �? �I??  ्䵚m0O� ______ /े䜂 ��0? �?$? BP। 

A. 5 =}/ B. 3 =}/ 

C. 7 =}/ D. 2 =}/ 
 

www.mseducationtv.com



 

Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and 

Commerce Department, Haryana) 

 Evening Session 

 

Page 7 of 28 

 

Q25. The female literacy percentage in Haryana, as per 2011 census is: 

A. 85% B. 65.94% 

C. 74.45% D. 69.85% 

Q25. 2011 �I �?�#?? �O  
?IA?? B9?0?#? /े䜂 /9B;? A?�?$? ्䵚)$?$ BP: 

A. 85% B. 65.94% 

C. 74.45% D. 69.85% 

 

Q26. Principal Seat of Haryana high court is in ________. 

A. Haryana B. Gurgaon 

C. Punjab D. Chandigarh 

Q26. B9?0?#? �चᩍ� m0?0?;0 �I ्䵚'?? +I  __________ /े䜂 BP। 

A. :99}?#? B. �I=�?
= 

C. +
�?- D. �
!I�? 
 

Q27. The Kalesar forest has ______ trees. 

A. Peepal B. Neem 

C. Eucalyptus D. Sal 

Q27. �?;OA?  ? /े䜂 ______ �O  +O) Bै䠂। 

A. +I+; B. )I/ 

C. }I�/;o�9 D. 9?; 

 

Q28. Which district of Haryana has maximum density of population as per census 2011? 

A. Ambala B. Palwal 

C. Faridabad D. Hisar 

Q28. �?�#?? 2011 �O  
?IA??, B9?0?#? /े䜂 A-AO जᱍ0?&? �?A?_0? �B?? BP? 

A. 

-?;? B. +;=; 

C. ,9I&?-?& D. 9:9?9 
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Q29. The famous film actor Sunil Dutt belongs to which district of Haryana? 

A. Panchakula B. Ambala 

C. Panipat D. Yamuna Nagar 

Q29. ्䵚/A्䵍 �,ल㉍/ 
/.?O$? AI?I; &m$ B9?0?#? �O  ��A ��;O �O  ?B?O  ?;O Bै䠂? 

A. +
��I ;? B. 
o-?;? 

C. +?)I+$ D. }/I)? )�9 
 

Q30. Pick the odd one out: 
 
Bicycle, Bus, Tram, Car 

A. Bicycle B. Bus 

C. Tram D. Car 

Q30. 
A?�$ �? �0? �?े䜂: 
 

A?���;, -A, ि?/, �?? 

A. 9?�+�; B. -9 

C. ्䵏?/ D. �?9 
 

Q31. Find the analogy. 
 
ABD : EJL :: IPR : ? 

A. UYT B. QMR 

C. ORT D. HLM 

Q31. A/??$? "ू?"े䜂। 
 
ABD : EJL :: IPR : ? 

A. UYT B. QMR 

C. ORT D. HLM 
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Q32. Find the missing number: 

 
4, 27, 16, 125, ?, 343 

A. 112 B. 36 

C. 225 D. 300 

Q32. 
?I+�}%$ A?_0? _?$ �?े䜂: 
 
4, 27, 16, 125, ?, 343 

A. 112 B. 36 

C. 225 D. 300 

 

Q33. In a certain code, if PAGE is coded as BOOK, then how will LEAF be coded as? 

A. GREEN B. TREE 

C. STOMATA D. BLADE 

Q33. 09& �� �K! .?@? /े䜂 PAGE �K BOOK /;�? �?$? BP $K LEAF �K ]0? /;�? �?��?? 

A. GREEN B. TREE 

C. STOMATA D. BLADE 

 

Q34. Find the value of X in the following equation: 

 
3(X-3) = 5(2X +1) 

A. 1 B. -1 

C. -2 D. 2 

Q34. )?o?/;��$ A/I�?# /े䜂 X �? /?? )?�?;े䜂: 
 
3(X-3) = 5(2X +1) 

A. 1 B. -1 

C. -2 D. 2 
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Q35. Consider two events, A and B. Which of the following formulae will you use to 

calculate P(A|B)? 

A.  B.  

C.  D.  

Q35. &K रき�??�?, A �? B +? = �?? �?े䜂। P(A।B) �I �#?? �??O �O  /;� �+ )?o?/;��$ /े䜂 AO ��A Aू्䵔 �? �+0K� 

�?े䜂�O? 

A.  B.  

C.  D.  

 

Q36. The total of 12% of 60000 and 14% of 42000 is ______% of 86000. 

A. 12.35% B. 13.45% 

C. 14.65% D. 15.20% 

Q36. 60000 �O  12% �? 42000 �O  14% �? �I ; 0K� 86000 �? _____% BK�?। 

A. 12.35% B. 13.45% 

C. 14.65% D. 15.20% 

 

Q37. Riya bought 250 erasers at Rs.17 each. She sold each eraser for Rs.20. Find the profit 
earned by her. 

A. 625 B. 750 

C. 875 D. 900 

Q37. 9?0? ?O 17 y+0O �I &? AO 250 �?Oज़? Y?I&O। �A?O ्䵚m0O� �?Oज़? �K 20 y+0O /े䜂 -O� 9&0?। �A�O  द♍ ??? 
���$ ;?. �? 
+$? ;�?�?। 

A. 625 B. 750 

C. 875 D. 900 

 

Q38. The device used to measure atmospheric pressure is called _________. 

A. Barometer B. Thermometer 

C. Ammeter D. Calorimeter 
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Q38.  ?0I/?!;I0 &-?  �K /?+?O �O  /;� �}$O/?; ��0O �??O  ?;O �+�?# �K _________ �B? �?$? BP। 

A. -P9K/I�9 B. %/?//I�9 

C. ए//I�9 D. �P ;K9I/I�9 
 

Q39. Pure water has a pH of ______. 

A. 4 B. 5 

C. 6 D. 7 

Q39. ?I्䵍 +??I /े䜂 ________ +I.��. BK$? BP। 

A. 4 B. 5 

C. 6 D. 7 

 

Q40. The branch of agriculture that focuses on systematic management of animals for the 
production of milk and its derived products is __________. 

A. Poultry farming B. Dairy farming 

C. Animal farming D. Milk farming 

Q40. �ृ=@ �I ??�? �K &'ू �? �AAO }0Im+m? �m+?&ो䬂 �O  �m+?&? �O  /;� +?I�? �O  }0 �}%$ ्䵚-?'? +? �े䜂 9्䵖$ BP �AO 
_________ �B? �?$? BP। 

A. /I�ी +?;) B. &Iगᝍ} �m+?&) 

C. +>I �ृ=} D. &Iगᝍ} �ृ=} 

 

Q41. ________ is the synonym of "EXUBERANCE". 

A. Overflowing B. Brilliant 

C. Enthusiasm D. Laziness 

 

Q42. _______ is the antonym of "CAPABLE". 

A. Inept B. Skilled 

C. Hopeful D. Graceful 
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Q43. Identify the meaning of the idiom 

 
"Do not judge a book by its cover." 

A. Don't assess anything or anybody by what you 

see. 

B. Do not interact closely with strangers. 

C. Friends are most important. D. Make a proper plan. 

 

Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"Mother told Sheela must go to the village and met her grandparents." 

A. Mother told Sheela go and meet her 

grandparents in village. 

B. Mother said Sheela go to the village and meet 

your grandparents. 

C. Mother told Sheela go to the village to meet 

her grandparents. 

D. Mother told Sheela that she must go to the 

village and meet her grandparents. 

 

Q45. Complete the sentence by choosing the correct form of the verb given in brackets. 

 
The match _______ (postpone) due to heavy rains. 

A. is postponing B. postponed 

C. was postponed D. being postpone 

 

Q46. )?o? ?m& �? +0?�0 ?�I ?m& -$?�0े䜂 | 

 

=  ?B 

A. >?}� B. +�I  

C. +?+#्䵇:# D. 
/}/ 
 

Q47. )?o? ?m& �? = +?I$ (= ;K/) 
%� -$?�0े䜂 | 

 

)???B?? 

A. �+:?9 B. �:?9 

C. ==:?9 D. &=?� 
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Q48. ?O�?��? $ /IB? ?O �? �/�$ 
%� -$?0े䜂।  
 

??� ू
+?I /?? �I �?�K �? $??? BP। 

A. -:I$ o}?9? :K)? B. �I>)9I- :K)? 

C. �	�K �O  ��O $?9O �)? D. -
}) ;�? &O)? 
 

Q49. ?I�O /;�O ?m& �? -BI �? -??0े䜂| 

 

ज़?�I? 

A. ज᰼
}�9O B. ज᰼
}�9P 

C. ज᰼
�I9े䜂 D. ज᰼
�I9P 
 

Q50. ?I�O /;�O ?m& �? �� �? -??0े䜂| 

 

रき?9�0?? 

A.  
�I B.  
�I}? 

C.  
9�}? D.  
9� 
 

Q51. Which of the following test is used to assess the strength of the concrete at the pile 
head to ensure that the pile is sufficiently cured and ready for NDT? 

A. Ultrasonic Pulse Velocity B. Density testing of cast cubes 

C. Penetration D. Pile load test 

Q51. "O? �O  ?I@� +? �? ्䵅I� �I $?�$ �? ��;? �??O �O  /;� )?o?/;��$ /े䜂 AO ��A +?I�# �? �+0K� ��0? �?$? BP ��AAO 
0B AI)?���$ BK A�O  �� "O? +0?�o$ z+ AO ]0K? BK �0? BP �? �?.!I.�I. (NDT) �O  /;� $P0?? BP? 

A. 
ल㉍्䵏?9K-)� +ल㉍9 =O� B. �?=� कᕍ}mू9 �?  )m= +9I्䵌# 

C. ्䵚=O> D. "O9 -K� +9I्䵌# 

 

Q52. Which of the following theory is used to define the undrained strength of the soil? 

A. Tresca B. Critical state 

C. Steady state D. Mohr-Columb 
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Q52. //्䴾I �I 
???्䵌�$ $?�$ �K +9?.?=@$ �??O �O  /;� )?o?/;��$ /े䜂 AO ��A /A्䵍??$ �? �+0K� ��0? �?$? BP? 

A. ्䵏O=�? B. /:m=+#ू/ 
==%? 

C. }=%9 
==%? D. /K:9-�K;
- 
 

Q53. Side face reinforcement in a beam is provided where the depth of the web in a beam 
exceeds ________. 

A. 80 cm B. 750 mm 

C. 525 mm D. 100 cm 

Q53. �� -I/ /े䜂 A?�! ,O A ?O?फKA�/े䜂� ्䵚&?? ��0? �?$? BP �B?? -I/ /े䜂  O- �I �B??� ___________ AO 
/'� BK$I BP। 

A. 80 9O./I B. 750 //./I 

C. 525 //./I D. 100 9O./I 
 

Q54. The Slider crack mechanism is used to: 

A. Obtain a reciprocating straight-line motion from 

a rotating shaft 

B. Transform rotation motion into translational 

motion 

C. Convert circular motion into reciprocating 

motion 

D. Connect two parallel shafts, whose axes are 

offset by a small amount 

Q54. };?�!? &??? $?्䵔 �? ्䵚0K� )?o? �?0� �??O �O  /;� ��0? �?$? BP: 

A. ए�  #ू/)>I; >?o� 9O ए� ्䵚m}?�?/I 9I}I-9O�? �-$ ्䵚?o$ 

�9)O �O  /;ए 

B.  #ू/) �-$ �K z+?
$9# �-$ /े䜂 -&;)O �O  /;ए 

C. �K;?�?9 �-$ �K ्䵚m}?�?/I �-$ /े䜂 -&;)O �O  /;ए D. &K 9/?)?
$9 >?o� 9O �)Oकᕍ� �9)O �O  /;ए, }�)�O  
्䵌 

�I � :& $� -&; �ए :ै䠂 
 

Q55. Which of the following is an example of wrapping pair? 

A. Wheel rolling on a surface B. Ball and roller bearing 

C. A belt driven pulley D. Tooth gear 

Q55. )?o?/;��$ /े䜂 AO �L?, �� ?P=+?� �K)I �? �� �&?B?# BP? 

A. ए� 9$: +9 }:I; 9K/;
� B. �े䜂& �9 9K;9 -O
99
� 

C. ए� -Oल㉍� 9
�?/;$ �9�I D. �ू% ��}9 
 

www.mseducationtv.com



 

Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and 

Commerce Department, Haryana) 

 Evening Session 

 

Page 15 of 28 

 

Q56. Which of the following phenomenon affects the performance of a compressor? 

A. Hysteresis B. Stalling 

C. Surging D. Dead space 

Q56. )?o? /े䜂 AO �L? AI रき�?? �� �? ्䵚OA? �O  ्䵚&?�? �K ्䵚.?= $ �?$I BP? 

A. 9:=�O9O/99 B. 
�?)� y� �?)? 

C. 
�?)� -?)? D. !O! =+O9 

 

Q57. What is the free electron concentration in copper? 

A. 1.1 x 1019 per m3 B. 1.7 x 1029 per m3 

C. 8.5 x 1028 per m3 D. 1.5 x 1016 per m3 

Q57. $??-O /े䜂 } $?्䵔 �;O]िI? �? ��?्䵇$? ]0? BP? 

A. 1.1 x 1019 ्䵚-$  ) /I�9 B. 1.7 x 1029 ्䵚-$  ) /I�9 

C. 8.5 x 1028 ्䵚-$  ) /I�9 D. 1.5 x 1016 ्䵚-$  ) /I�9 
 

Q58. What is the material of the element used in an electric heater? 

A. Germanium B. Tungsten 

C. Chromium D. Nichrome 

Q58. �;O�]ि� BI�? /े䜂 �+0K� ��� �??O  ?;O $m  �I A?/्䵇I ]0? BP? 

A. �/े-)}/ B. �
�=�) 

C. ्䵅K//}/ D. -)्䵅K/ 

 

Q59. What is the composition of materials used in the fuse wire? 

A. 63% tin + 37% lead B. 67% lead + 33% tin 

C. 67% tin + 33% lead D. 50% tin + 50% lead 

Q59. o0ू� $?? /े䜂 �+0K� BK?O  ?;I A?//्䵇0ो䬂 �I A??�?? ]0? BP? 

A. 63% 9�) + 37% 9I9? B. 67% 9I9? + 33% 9�) 

C. 67% 9�) + 33% 9I9? D. 50% 9�) + 50% 9I9? 
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Q60. Identify the type of motor starter in which the starting torque increases the starting 

current. 

A. Squirrel cage B. Autotransformer 

C. Direct On Line D. Star-delta 

Q60. /K�? }�?��? �O  ्䵚�?? �I +B�?? �?े䜂 ��A/े䜂 �??/.� �K}� , �??/.� �??� �K -*? &O$? BP। 

A. }=कᕍ=9; �O � B. ऑ�K्䵏?
9,?//9 

C. !?}9Oकᕍ� ऑ) ;?�) D. =�?9-!Oल㉍�? 
 

Q61. In case of insulators, as the temperature decreases, resistivity _________. 

A. Decreases B. Becomes zero 

C. Remains constant D. Increases 

Q61. �mAI;O�? �O  /?/;O /े䜂, $?+/?? /े䜂 �/I �?O +?, ्䵚)$?K'�$? _________। 

A. �/ :K �?$I :P B. >oू} :K �?$I :P 

C. }=%9 9:$I :P D. -? �?$I :P 
 

Q62. What is the current value of Bohr magneton? 

A. 9.27400968 x 10-24 Am2 B. 9.27400698 x 1024 Am2 

C. 9.27400986 x 10-24 Am-2 D. 9.27400966 x 1024 Am-2 

Q62. -KB? /P_?O�K? �O  �??� �? /?? ��$?? BK$? BP? 

A. 9.27400968 x 10-24 Am2 B. 9.27400698 x 1024 Am2 

C. 9.27400986 x 10-24 Am-2 D. 9.27400966 x 1024 Am-2 

 

Q63. Which of the following program converts assembly language to executable machine 
code? 

A. Compiler B. Interpreter 

C. Assembler D. Linker 

Q63. )?o? /े䜂 AO �L? A? ्䵚K्䵇?/, 
Aे䜂-;I .?@? �K )?�+?&? 0K_0 /?I? �K! /े䜂 -&; &O$? BP? 

A. �o+?�;9 B. �
�9्䵚O�9 

C. 
9Oo-;9 D. /;
�9 
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Q64. Which is the fourth layer of OSI model? 

A. Data Link B. Presentation 

C. Network D. Transport 

Q64. �.�A.��. /I!; �I �L%I +?$ �L? AI BP? 

A. !O�? /;
� B. ्䵚O�े䜂�O>) 

C. )O�=�/  D. ्䵏?
9+K�/ 
 

Q65. Which of the following is a valid declaration in a C program? 

A. int main; B. void main(); 

C. int main(void); D. void main; 

Q65. )?o? /े䜂 AO �L?, AI(C) ्䵚K्䵇?/ /े䜂 �� /?m0 रきK@#? BP? 

A. int main; B. void main(); 

C. int main(void); D. void main; 

 

Q66. Which of the following statement is used to select any existing database in the SQL 

schema? 

A. USE B. SELECT 

C. LIKE D. WHERE 

Q66. �A.]0ू.�;.(SQL) }�I/? /े䜂 ��AI /L�ू&? !O�?-OA �K �I??O �O  /;� )?o?/;��$ /े䜂 AO ��A }�O�/े䜂� �? �+0K� ��0? 
�?$? BP? 

A. USE B. SELECT 

C. LIKE D. WHERE 

 

Q67. What does MRP stand for? 

A. Maximum Retail Price B. Minimum Retail Price 

C. Maximum Rate Paid D. Minimum Rate Paid 

Q67. �/.�?.+I. �? +ू?? ??/ ]0? BP? 

A. 
�}�$/ �I&9? /लू㉍} B. o}ू)$/ �I&9? /लू㉍} 

C. 
�}�$/ &9 9>Iल㉍� D. o}ू)$/ &9 9>Iल㉍� 
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Q68. Identify the correct pair of substitute goods. 

A. Leather shoes and canvas shoes B. Tea and coffee 

C. Bag and briefcase D. Pen and pencil 

Q68. }%???+m?  }$I�? �I ABI �K)I �K +B�??े䜂। 

A. �/=O �O  �$ूO �9 �P )=?9 �O  �$ूO B. �?} �9 �I,I 

C. -P� �9 ्䵜I,�O 9 D. +O) �9 +े䜂/9; 

 

Q69. From the given graphs, identify which one represents perfectly elastic demand? 
 

 

A. Figure A B. Figure B 

C. Figure C D. Figure D 
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Q69. ?I�O 9&� �� ्䵇?फ /े䜂, +B�???O �I �K/?? �?े䜂 �� �?/े䜂 AO �L?, +ू?I $?B AO ;K�&?? /??� �? ्䵚)$)?/'m  �?$? BP? 

 

 

A. ��्䵔 A B. ��्䵔 B 

C. ��्䵔 C D. ��्䵔 D 

 

Q70. Which category of goods comprises of salt and sugar? 

A. Luxury B. Necessity 

C. Inferior D. Superior 

Q70. ?/� �? �I?I,  }$I�? �I ��A ्䵦O#I /े䜂 �$O Bै䠂? 

A. ==;?/9$? B. �=�}�$? 

C. 
=9 D.  

 

Q71. Goods and services that are used by the consumers directly are called ___________. 

A. Consumption goods B. Capital goods 

C. Principal goods D. Necessary goods 
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Q71. AI'O �+.K]$?�? द♍ ??? �+0K� �I �??O  ?;I  }$I�? �? AO ?�? �K __________ �B? �?$? BP। 

A. �+.K� ==$Iए
 B. +ू
�I�$ ==$Iए
 

C. ्䵚}?) ==$Iए
 D. �=�}� ==$Iए
 
 

Q72. Which city is the trade and financial capital of India? 

A. Ahmedabad B. Chennai 

C. Kolkata D. Mumbai 

Q72. .??$ �I }0?+?9?� �? = m$I0 ??�'??I ]0? BP? 

A. 
:/&?-?& B. �Oo)� 

C. �K;�?$? D. /I
-� 
 

Q73. ___________ Budget is not prepared by the governing bodies in India. 

A. Union B. State 

C. Corporate D. Municipal 

Q73. ___________ -�� .??$ /े䜂 ??AI )?�?0ो䬂 द♍ ??? $P0?? ?BI? �I �?$I BP| 

A. }-ू)}) B. 9?जᱍ} 

C. �I+K9O� D. )�9+?/;�? 
 

Q74. In the given business cycle graph, what does the downhill of the graph indicate? 
 

 

A. Expanding Employment opportunity B. Shrinking business opportunity 

C. Depreciation of long-term assets D. Period in which an asset is expected to be used 
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Q74. 9&� �� }0? A?)0� �्䵅 ्䵇?, /े䜂, ्䵇?फ �O  !?�?9B; ]0? &??�$? BP? 

 

 

A. 9K��?9 �O  
=99 �? ===$?9 B. /9�I =)O �? }}=9?-}� 
=99 

C. &I /�?/;� +999
+}m$}ो䬂 �? /लू㉍}}?9 D. }�9 
=�} /े䜂 ए� +999
+}m$ �? �+}K� :K)O �I �o/I& :P 
 

Q75. The Scheme introduced by RBI to redress customer complaints against deficiency in 
certain banking services is _________. 

A. Banking Ombudsman Scheme B. One Time Settlement Scheme 

C. Debt Restructuring Scheme D. Priority Sector Lending Scheme 

Q75. ___________ �I � -ै䠂��? � AO ?�? /े䜂 �/I �O  = y्䵍 ्䵇?B� /?�?0$ो䬂 �? )? ??# �??O �O  /;� �?.-I.��. द♍ ??? ?Iz 

�I �� 0K�?? BP| 

A. -ै䠂+�
 � ;K�+?; }K�)? B. ए� -?9�I -)+�?) }K�)? 

C. �# +I)�/ ) }K�)? D. ्䵚?%//�$? ्䵌O्䵔 �# }K�)? 
 

Q76. Which of the following is the apex institution that handles refinance for Agriculture 
and Rural development in India? 

A. SIDBI B. SBI 

C. RBI D. NABARD 

Q76. �?/े䜂 AO �L?  B A ोचᩍ� A?}%?? BP �K .??$ /े䜂 �ृ=@ �? ्䵇?/I# = �?A �O  /;� +I?= �m$ �? �?/ A?.?;$? BP? 

A. /9!-I (SIDBI) B. ए9.-I.��. 

C. �9.-I.��. D. )?-?!/ (NABARD) 
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Q77. What does M in M-Banking service offered by Banks stand for? 

A. Message B. Mobile 

C. Mail D. Money 

Q77. -ै䠂�ो䬂 द♍ ??? ्䵚}$?= $ �/(M)--ै䠂��? � AO ? /े䜂 �/(M) �? /$;- ]0? BP? 

A. /P9O� B. /K-?�; 

C. /O; D. /)I 
 

Q78. A country that does not trade with other countries is called _______. 

A. Developed economy B. Independent economy 

C. Closed economy D. None of the above 

Q78. �� �A? &O? �K 
m0 &O?ो䬂 �O  A?% }0?+?? ?BI? �?$? BP �AO _______ �B$O Bै䠂| 

A. ==�/9$ 
%/}}==%? B. ==$
्䵔 
%/}}==%? 

C. -
& 
%/}}==%? D. �)/े䜂 9O �K� .I ):I
 
 

Q79. The increase in the inflation-adjusted market value of the goods and services 
produced by an economy over time is called as __________. 

A. Economic Rent B. Economic Productivity 

C. Economy Quality D. Economic Growth 

Q79. A/0 �O  A?% �� 
%�}0 }%? द♍ ??? �m+?9&$  }$I�? �? AO ?�? �O  /I्䵖?},I)$-A/?0K��$ -?�?? /ूल㉍0 /े䜂  =ृ्䵍 �K 
____________ �B? �?$? BP| 

A. ��%/� +�9?}? B. ��%/� �m+?&�$? 

C. 
%/}}==%? �I#=m$? D. ��%/� ==ृि 

 

Q80. _________ Coefficient is an indicator of income distribution. 

A. Capita B. Gini 

C. Lorenz D. Engel 
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Q80. _________ �I#??�, �0 = $?# �? �� A?�O $� BP। 

A. �P =+�? B. ��)I 

C. ;K9Oo� D. ए
�O; 

 

Q81. The process by which a nation improves the economic, political, and social well-being 
of its people is called ________. 

A. Inflation B. Capital Stocking 

C. GDP D. Economic Development 

Q81. ��A ्䵚�्䵅0? द♍ ??? �� &O? 
+?O ;K�ो䬂 �O  �/%��, ??�?I)$� �? A?/?��� �ल㉍0?# �K -OB$? -??$? BP, �A ्䵚�्䵅0? �K 
________ �B? �?$? BP। 

A. /I्䵖?=,I-$ B. �P =+�; =�I+�
 � 

C. �I.!I.+I. D. ��%/� ==�?9 

 

Q82. Which of the following texts was the first authoritative text on public finance, 
administration and the fiscal laws? 

A. Manusmriti B. Arthasastra 

C. Tripitaka D. Dharmasastra 

Q82. )?o?/;��$ /े䜂 AO �L? A? +? , A? ��)?� = m$, ्䵚??A? �? = m$I0 �??ू? �? +B;? ्䵚/?�#� +?  %?? 

A. /)I=/-ृ$ B. 
%/>?=्䵔 

C. }्䵔=+�� D. }//>?=्䵔 
 

Q83. Rahul has sold his property at Rs. 1 crore. However, he had bought the property 5 
years back at Rs. 60 lakh. What is the tax he has to pay on the profit realised on the sale of 
the property? 

A. Capital Gains Tax B. Service Tax 

C. Value Added Tax D. Corporate Tax 

Q83. ??BI; ?O 
+?I A?+�m$ �K �� �?K) y+0O /े䜂 -O� 9&0? BP। B?;??��, �mBो䬂?O 5 A?; +B;O A?+�m$ �K 60 ;?� /O �?I&? %?। 
A?+�m$ �I --्䵅I +? �??I ��� �� ;?. +?  B ]0? �? .I�$?? �??? +)O�?? 

A. +ू
�I ;?. �9 B. 9O=? �9 

C. /लू㉍} =�}/$ �9 D. �I+K9O� �9 
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Q84. Which of the following economist's work 'The Theory of Public Finance (1959)' is 

described as "the first English language treatise in the field" and "a major contribution to 
public finance thought"? 

A. Paul Krugman B. Richard Abel Musgrave 

C. Janet Yellen D. Glenn Hubbard 

Q84. )?o? /े䜂 AO ��A 
%�??}्䵔I �I ?�?? '& m0K?I �फ +�m;� ,?�?े䜂A (1959)' �K "�O्䵔 /े䜂 
?्䵇O�I .?@? �? +B;? ्䵇?%" 

�? "A? ��)?� = m$ = �?? /े䜂 �� ्䵚/I� 0K�&??" �O  z+ /े䜂  �#�$ ��0? �?$? BP? 

A. +I; ्䵅I �/P) B. 99�!/ �-O; /I9्䵇O= 

C. �O)O� }O;O) D. गᝍ;O) :ू-?!/ 
 

Q85. ____________ performs the central banking operations in India. 

A. State Bank of India B. Central Bank of India 

C. Union Bank of India D. Reserve Bank of India 

Q85. ____________ .??$ /े䜂 �े䜂 ्䵖I0 -ै䠂��? � +9?�?;? �?$? BP| 

A. .?9$I} =�O� -ै䠂� B. 9े䜂्䵏; -ै䠂� ऑ, �
)!}? 

C. }-ू)}) -ै䠂� ऑ, �
)!}? D. .?9$I} 99�=/ -ै䠂� 

 

Q86. What is the main mode of transportation in Indian Economy? 

A. Airways B. Roadways 

C. Railways D. Waterways 

Q86. .??$I0 
%�}0 }%? /े䜂 +9? B? �? /I_0 $?I�? ]0? BP? 

A. =?}I/?�/ B. 9=�/?�/ 

C. 9O;/?�/ D. �;/?�/ 
 

Q87. Which one of these is an example of direct tax? 

A. Income Tax B. Service Tax 

C. Value Added Tax D. Stamp Duty 
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Q87. �?/े䜂 AO �L?, ्䵚m0� �? �? �� �&?B?# BP? 

A. �}�9 B. 9O=? �9 

C. /लू㉍} =�}/$ �9 D. =�?o+ >Iल㉍� 

 

Q88. Globally__________ ranks first in the production of milk. 

A. India B. Netherland 

C. New Zealand D. Italy 

Q88. = �  }$? +? __________ A-AO +B;O &'ू �O  �m+?&? /े䜂 }%?? ?�$? BP। 

A. �
)!}? B. )I&9;ै䠂! 

C. o}ू ज᰼I;
! D. ��;I 
 

Q89. Which among the following is the largest Bank in India by total assets? 

A. ICICI Bank B. Bank of Baroda 

C. Punjab National Bank D. State Bank of India 

Q89. )?o?/;��$ /े䜂 AO �L?, Ao+ू#� +9?A?+�m$ �O  �'?? +? .??$ �? A-AO -)? -ै䠂� BP? 

A. ��.9I.��.9I.��. -ै䠂� B. -ै䠂� ऑ, -=L&? 

C. +
�?- )O>); -ै䠂� D. .?9$I} =�O� -ै䠂� 

 

Q90. Crude oil production and infrastructure industry of _______ employs over 2 million 
expat Indians. 

A. Bahrain B. Saudi Arabia 

C. Kuwait D. Iraq 

Q90. _______ �? ्ू䵅! �0; �m+?&? �? -I)?0?&I "??�? �द♍0K�, 20 ;?� AO 
/'� ्䵚 ?AI .??$I0ो䬂 �K ?K��?? &O$? BP। 

A. -:9I) B. 9�&I 
9- 

C. �I =P$ D. �9?� 
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Q91. Which among the countries below is the largest source of International tourists to 

India? 

A. European Union countries B. Japan 

C. United States of America D. China 

Q91. ?I�O 9&� �� &O?ो䬂 /े䜂 AO �L? A? &O?, .??$ /े䜂 
?$??��िI0 +0���ो䬂 �? A-AO -)? ्䵨K$ BP? 

A. }9ूK+I} 9
  �O  &O> B. �?+?) 

C. 9
}Iकᕍ$ 9?जᱍ} 
/O99�? D. �I) 

 

Q92. Ms. Mallika Srinivasan was awarded with Padma Shri in the year 2015 from trade and 
industry category is associated with _____________. 

A. Tractors and Farm Equipment Limited B. Tata Motors 

C. Force Motors D. Kirloskar Oil Engines 

Q92. AI्䵦I /�ल㉍;�? ्䵦I)? ?A? �K }0?+?? �? �द♍0K� ्䵦O#I AO  @� 2015 /े䜂 +्䵔 ्䵦I AO Ao/?)?$ ��0? �0? %?,  B 
_____________ AO �I)I Bै䠂। 

A. ्䵏Pकᕍ�9/ ए
! ,?// �}कᕍ=+/े䜂� /;//�O! B. �?�? /K�9/ 

C. ,K9/ /K�9/ D. +�;K=�9 ऑ}; �
�o9 

 

Q93. What is the tax bracket for luxury cars under the Goods and Service Tax (GST)? 

A. 5% B. 28% 

C. 43% D. 15% 

Q93. /?; �? AO ? �? (�I.�A.�I.) �O  $B$ ;]�?I �??ो䬂 �O  /;� �P]A ्䵜P�O � ]0? BP? 

A. 5% B. 28% 

C. 43% D. 15% 

 

Q94. Which firm delivered C-433 and C-434 high-speed interceptor ships to the India Coast 
Guard? 

A. Andrew Yule and Company B. Larsen & Toubro 

C. Jord Engineers India D. Heavy Engineering Corporation 
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Q94. ��A ,/� ?O .??$I0 $�?�� -; �K C-433 �? C-434 B?�-}+I! �?�?AOo�? �B?�ो䬂 �I )!;I ?I �I? 

A. ए
्䵑} ू};ू ए
! �
 +)I B. ;?9/) ए
! �I्䵜K 

C. �I!/ �
�I-)}9/ �
)!}? D. :O=I �
�I-)}99
� -)�/ 

 

Q95. The Union Cabinet has approved a proposal to provide US$ 150 million credit from 
Export Import Bank of India (EXIM Bank) for the development of ____________. 

A. Chabahar Port B. Gwadar Port 

C. Khor Fakkan Port D. Port of Merak 

Q95. �े䜂 ्䵖I0 /?-्䵔/?!; ?O ____________ �O  = �?A �O  /;� �]A+K�� �o+K�� -ै䠂� �, �?)!0? (��]�/ -ै䠂�) AO 150 

///;0? 0ू.�A. !I;? �? ऋ# ्䵚&?? �??O �O  ्䵚}$?  �K /?�ू?I &O &I BP। 

A. �-:?9 -
&9�?: B. गᝍ=?&9 -
&9�?: 

C. �K9 ,कᕍ�) -
&9�?: D. /O9� -
&9�?: 
 

Q96. Expenditure incurred on normal running of the government departments and 
maintenance of services is _____. 

A. Asset expenditure B. Revenue expenditure 

C. Capital expenditure D. Non-recurring expenditure 

Q96. A?�??I = .?�ो䬂 �O  A?/?m0 �;? �? AO ?�? �O  ?�?  +? ��� �� }00 _____ Bै䠂। 

A. 9
+}m$ }}} B. 9?�== }}} 

C. +ू
�I�$ D. �P9 �=$ी }}} 

 

Q97. Where was the fourth session of the bilateral joint commission on economic 
cooperation between India and Poland held? 

A. Wroclaw B. Opole 

C. Lublin D. Warsaw 

Q97. .??$ �? +K;ै䠂! �O  -I� �/%�� AB0K� +? द♍= +�I0 A?0I]$ �0K� �? �L%? A्䵔 �B?? BI� %?? 

A. ्䵥Kकᕍ;?= B. �+K;O 

C. ;I-/;) D. =9?/= 
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Q98. The amount of cash or fund deposits that the commercial banks need to keep with the 

Reserve Bank of India is referred to as __________. 

A. Cash Return Ratio B. Cash Reserve Ratio 

C. Cash Refund Ratio D. Cash Reduction Ratio 

Q98. ?�&I 0? '?�K@ �/? �I ??/? �K  ?�#�जᱍ0� -ै䠂�ो䬂 �K .??$I0 9?� � -ै䠂� �O  +?A ?�?? +)$? BP, �A ??/? �K 
__________ �B? �?$? BP| 

A. )�& ्䵚-$,; 
)I+?$ B. )�& �9्䵌्䵌$ 
)I+?$ 

C. )�& =?+9I 
)I+?$ D. )�& ��L$I 
)I+?$ 

 

Q99. Which one of these taxes does not fall directly on the individual's/company's income 
and can be transferred to others? 

A. Corporate tax B. Wealth tax 

C. Income tax D. Service tax 

Q99. �?/े䜂 AO �L? AO �?, AI'O }0�]$/�? +?I �I �0 +? ?BI? ;�$O Bै䠂 �? �mBे䜂 &Aू?ो䬂 �K B}$??$9?$ ��0? �? A�$? BP? 

A. �I+K9O� �9 B. }) �9 

C. �}�9 D. 9O=? �9 
 

Q100. The expenditures incurred on defence forces, public health and education schemes 

and civil administration is categorised under ___________ expenditure. 

A. Capital B. Revenue 

C. Monetary D. Financial 

Q100. ?�? -;ो䬂, A? ��)?� } ?}m0 �? /?�? 0K�??�? �? ??�9?� ्䵚??A? +? ��� �� }00 �K ___________ }00 

�O  
?$��$  �ी�ृ$ ��0? �0? BP। 

A. +ू	�I B. 9?�== 

C. /L9्䵖� D. ==m$I} 
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